1.0

0<p <2.00, -1.50<y<-1.20,

0/7<|cos(6*)|<1/7, cent(40-80)

1.00<p <200

, -1.50<y<-1.20, 1/7<|cos(8¥)|<2/7, cent(40-80)

e LB = 5 e — S
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sl- [Odata ] 0sl- [Odata ]
[ [=sig+res ] [ [=sigtres 1
I |=res 1 [ |=res 1
P E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> ol - > ol -
0.2 . 0.2}~ _
[ Lo I | I Y ] L i 1 L | - ]
05 T O3 07 &8s T 07 TO%
+ - + -
M(K",K) M(K",K")
1.00<p_<2.00, -1.50<y<-1.20, 3/7<|cos(8*)|<4/7, cent(40-80) 1.00<p, <2.00, -1.50<y<-1.20, 4/7<|cos(8")|<5/7, cent(40-80)
| T T Entries 0 | T T Entries 0
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sk [Odata . 0sk [Odata -
[ |—sig+res ] [ [—sig+res ]
I |=res 1 [ |=res 1
] — o 06 -
S [ ] S [ ]
2 [ ] 2 [ ]
> ol — > 04l -
0.2f- — 0.2f- -
-_ A 1 I B L. 1 [— -
05 1 102 104 ) T 102 T.04
+ 0, + -
M(K",K) M(K",K")
1.00<p_<2.00, -150<y<-1.20, 6/7<|cos(8")|<7/7. cent(40-80) 1.00<p_<2.00, -1.50<y<-1.20, 0/7<|cos(8")|<7/7, Cent(40-80)
1 T T T T T T T T — — 1 T T T T T T ——
L T T Entries 0 L T T Entries 0
L Mean 0 L Mean 0
- Std Dev. 0 - Std Dev 0
0sl [Odata m osl- ]
[ |—sigtres ] [ ]
I |=res 1 r 1
0 06 E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> oal E > o4l —
0.2 E 0.2 —
L " I 1 . | - ] L SIS WU S N SR S T | -k -l ]
8.98 1 1.02 1.04 (?98 1 1.02 1.04
+ - + -
M(K™,K") M(K™,K")

Yields

Yields

1.00<p <200

, -1.50<y<-1.20, 2/7<|cos(8*)|<3/7, cent(40-80)

T >

: Mean 0

L Std Dev 0
0gl |[Odata ]

[ [=sigtres ]

I |= res 1
0.6 —
0.4 -
0.2 -

[ I [ B

R I— 53 07
o
M(K",K")
1.00<p, <2.00, -1.50<y<-1.20, 5/7<|cos(8*)<6/7, cent(40-80)
I———r7

L Entries 0

L Mean 0

L Std Dev 0
0sl |Odata ]

[ [=sigtres ]

r |= res 1
0.6 -
0.4 -
0.2 -

L Lo ] | T Y ]

055 1 1.02 104
.-
M(K",K)
eta_0_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
] T T T T T —— -
- Mean 0
o Std Dev 0
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



1.0

0<p <2.00, -1.20<y<-1.00,

0/7<|cos(6*)|<1/7, cent(40-80)

1.00<p <200

, -1.20<y<-1.00, 1/7<|cos(8¥)|<2/7, cent(40-80)

e LB = 5 e — S
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sl- [Odata ] 0sl- [Odata ]
[ [=sig+res ] [ [=sigtres 1
I |=res 1 [ |=res 1
P E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> ol - > ol -
0.2 . 0.2}~ _
[ Lo I | I Y ] L i 1 L | - ]
05 T O3 07 &8s T 07 TO%
+ - + -
M(K",K) M(K",K")
1.00<p_<2.00, -1.20<y<-1.00, 3/7<|cos(8*)|<4/7, cent(40-80) 1.00<p, <2.00, -1.20<y<-1.00, 4/7<|cos(8")|<5/7, cent(40-80)
| T T Entries 0 | T T Entries 0
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sk [Odata . 0sk [Odata -
[ |—sig+res ] [ [—sig+res ]
I |=res 1 [ |=res 1
] — o 06 -
S [ ] S [ ]
2 [ ] 2 [ ]
> ol — > 04l -
0.2f- — 0.2f- -
-_ A 1 I B L. 1 [— -
05 1 102 104 ) T 102 T.04
+ 0, + -
M(K",K) M(K",K")
1.00<p <200, -1.20<y<-1.00, 6/7<|cos(8")|<7/7. cent(40-80) 1.00<p_<2.00, -1.20<y<-1.00, 0/7<|cos(8")|<7/7, Cent(40-80)
1 T T T T T T T T — — 1 T T T T T T —
L T T Entries 0 L T T Entries 0
L Mean 0 L Mean 0
- Std Dev. 0 - Std Dev 0
0sl [Odata m osl- ]
[ |—sigtres ] [ ]
I |=res 1 r 1
0 06 E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> oal E > o4l —
0.2 E 0.2 —
L " I 1 . | - ] L SIS WU S N SR S T | -k -l ]
8.98 1 1.02 1.04 (?98 1 1.02 1.04
+ - + -
M(K™,K") M(K™,K")

Yields

Yields

1.00<p <200

, -1.20<y<-1.00, 2/7<|cos(6*)|<3/7, cent(40-80)

T >

: Mean 0

L Std Dev 0
0gl |[Odata ]

[ [=sigtres ]

I |= res 1
0.6 —
0.4 -
0.2 -

[ I [ B

R I— 53 07
o
M(K",K")
1.00<p, <2.00, -1.20<y<-1.00, 5/7<|cos(8*)<6/7, cent(40-80)
I———r—T1—

L Entries 0

L Mean 0

L Std Dev 0
0sl |Odata ]

[ [=sigtres ]

r |= res 1
0.6 -
0.4 -
0.2 -

L Lo ] | T Y ]

055 1 1.02 104
.-
M(K",K)
eta_1_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
] T T T T T T —— -
- Mean 0
o Std Dev 0
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

1.00<p <2.00, -1.00<y<-0.80, 0/7<[cos(8*)|<L/7, cent(40-80)

40

20

40

20

60

40

Odata
—sig+res

='res

Entries
Mean

Std Dev 0.008076

220
1.018

- [Odata

=—sig+res

Entries
Mean

Std Dev_0.009506

212
1.015

[ [Odata

= sig+res
= res

Entries

Mean

Std Dev_0.007284

183
1.018

Yields

Yields

1.00<p, <2.00, -1.00<y<-0.80, 1/7<|c0S(8")|<2/7, cent(40-80)

T T T T T T T T T T — _
| Entries 197
Mean 1.029
L Std Dev 0
20 |Odata
[ [=sigtres 1
[ |='res
O = --
-
oL rL _
PR S Yo VSR R N TR S S R
0.98 1 i 1.02 1.04
-
M(K*,K)
1.00<p, <2.00, -1.00<y<-0.80, 4/7<|c0S(8")|<5/7, cent(40-80)
60 — T T T — —
Entries 219
I Mean  1.022
r Std Dev 0
| |Odata ]
s |=sig+res E
I |=res
20—
O =
0.98 i 1.02 1.04
+
M(K",K")
1.00<p_<2.00, -1.00<y<-0.80, 0/7<[c0s(8*)|<7/7, Cent(40-80)
— T
| Entries 1439
Mean 1.018
Std Dev 0.005907
200~ —

Yields

Yields

1.00<p_<2.00, -1.00<y<-0.80, 2/7<|cos(6*)|<3/7, cent(40-80
T

T T T T T T T T T T T -
40 Entries 215
Mean 1.015
- Std Dev  0.00936
Odata
[ |=—sig+res |
[ [= res
20
o] =4
L | |
0.98 1 1.02 1.04 7
+
M(K",K")
1.00<p_<2.00, -1.00<y<-0.80, 5/7<|cos(8*)|<6/7, cent(40-80)
T T T T T T T T T T T — - —
| Entries 192
Mean 1.02
r Std Dev 0
ol |Odata ]
| [=sigtres .
- res

eta_2_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

LLARE) LARE) RALL LALAS LAAL) LARRN RALLI L s

550
| Mean

7

0.5527

Std Dev 0.2805

500

450

400

350

300

250

o

0.1 02 03 04 05 06 07 08 09

[N




1.00<p <2.00, -0.80<y<-0.60, 0/7<[coS(8*)|<L/7, cent(40-80)

800 |~
| |Odata
cool [—Sig+res
I |=res

Yields

75
Fof

0.98 =

o ()=

e L L
=

Entries 806
Mean 1.022
Std Dev 0

@
M

[ |Odata
=—sig+res

[ |='res

— T T T -
Entries 1101
Mean 1.021]
Std Dev 0

1000 ! ! ! T ! ! ! T ! ! ! Entries 1549

B Mean 1.019
- Odata Std Dev 0.007283
[ [=sig+res 1
[ [=res 1

o b

©

D50}

> 1

Ofe =

1.00<p, <2.00, -0.80<y<-0.60, 1/7<|c0s(8")|<2/7, cent(40-80)

800~

600

! T T T ! T ! " Tenties 958 V
! Mean 1.021
: Odata Std Dev . 0
—sig+res ]
= res ]

Yields

6000

000

Yields .

2000

1.00<p_<2.00, -0.80<y<-0.60, 0/7<[c0s(8*)|<7/7, Cent(40-80)

i i i T i i i T i i i Entries 967
Mean 1.02
Std Dev 0
I |Odata
I [=sig+res 4
l |=res ]

1.00<p <2.00, -0.80<y<-0.60, 2/7<|c0S(8*)|<3/7, cent(40-80)

I i i i T i i i T i i i Entries 922
800 Mean 1022

r Std Dev 0

I |Odata A 7
cool- [=Sig+res ]

I |= res T

Yields

1000~ Entries

Mean

Std Dev 0.002593

1180
1.019

Odata
= sig+res

= res

Yields

o

eta_3_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

T — [

Entries 7483
B @ Mean 1.02
[ (D Std Dev 0

10000

Mean

Entries 7

0.5149

— —{Std Dev_0.2841

9800

9600

9400

9200

9000

8800

8600

8400

8200

ARLRARES LR R LS R LS AN AR LA N

0.1 02 03 04 05 06 07 08 09

o

iN



1.00<p <2.00, -0.60<y<-0.40, 0/7<[coS(8*)|<L/7, cent(40-80)

2000
(Odata
—sig+res
1500~ | rag
1]
o
[
=000
>

T T T T T T T T Tenies 2359
F Q@ Mean 1.021
- Std Dev 0
2000 Odata
[ |=sig+res 1
= res
1]
o
(]
';.000
0
0.
! ! ! T ! ! I ! ! ! Entries 2694
Mean 1.02
2000 Std Dev_0.003429
(Odata
= sig+res
1500~ |= ‘res
[2]
s
(]

Yi

Mean 1.021]
Std Dev 0

Entries 2237

000

500

1.00<p, <2.00, -0.60<y<-0.40, 1/7<|c0S(8")|<2/7, cent(40-80)

Mean 1

2000 Std Dev

Entries 2273

.021
0

(Odata
—sig+res

= res

500

Mean

Entries 2773

1.02

2000 -— O data Std Dev 0.003984
L [=sig+res ]
1500} |= res i
o [ ]
o [ ]
o ]
000~ ]
500 ]

Entries 17343

1.02

T
15000~ Mean
B Std Dev.

10000 ®

Yields

5000

1.00<p, <2.00, -0.60<y<-0.40, 2/7<|c0S(8*)|<3/7, cent(40-80)

Entries 2450
Mean 1.021

2000 O data Std Dev 0
= Sig+res
1500f~ |= res
(2]
T
(]
'>__,1000

500

L Entries 2557
- Mean 1.02
2000 _— Od : Std Dev 0.001919
[ ata ]
[ [=sig+res ]
1500 ]
L |= res 1
w [ ]
E L 4
Diooof- 1
< ]
500 ]
o=
L 1
0.98

eta_4_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

[ Entries 7
24500 | Mean  0.5059

: Std Dev 0.2846
24000 | |
23500~ | s | | b

[ I ]
23000~ | 5
22500 | — | .

L. NIV AP PP AP TP

0 01 02 03 04 05 06 07 08 09 1



1.00<p <2.00, -0.40<y<-0.20, 0/7<[c0S(8*)|<L/7, cent(40-80) 1.00<p, <2.00, -0.40<y<-0.20, 1/7<|c0S(8")|<2/7, cent(40-80) 1.00<p, <2.00, -0.40<y<-0.20, 2/7<|c0S(8*)|<3/7, cent(40-80)

Entries 2625 - Entries 2720
Mean 1.021] Mean 1.021 r
- Std Dev 0 Std Dev 0

Entries 2419
Mean 1.021
Std Dev 0

2000 (Odata I |Odata 7 [ |Odata
- . - | X | 2000}~ i
| |=—sig+res i 20001~ | sig+res —sig+res
b |=res - = res = res
[%2] [%2]
o o
Q2 2
>-1000 >-1DOO
0 P 0
0.98 0.98
i i i T i i i T i i i Entries 2920 o i i i T i i i T i i i Entries 2843 | i i i T i i i T i i i Entries 3615
I Mean 1.021 L Mean 1.02 !.‘ Mean 1.02
- [ Std Dev 0.002418 i Std Dev 0.001612 B Std Dev 0.003826
Odata I |Odata & | [Odata ]
2000~ . -1 2000 . _ .
—sig+res —sig+res 2000 |=sig+res -
L |- res | | |- res 1 [ |- res 1
[%2] [%2]
o o
Q2 2
P >
1000 1000
0
0.
1_00<p <2.00, -0,40<y<-0_2()I (}/7<|(;05(8')|<7/7v Cen((AO-SO) eta_5_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
.
—— T i Ma at Tre -
B D Mean 1.021 I Mean 1.021 27000 - Mean 0.501
- Std Dev  0.001891 I Std Dev 0 : Std Dev 0.2849
Odata 15000 26800} =
2000 - . - F 1
= sig+res 3 —O— ]
r 1 26600 o 1
L |=res i 3 —O— —O— 1
5 Hooo 26400 | R
2 2 26200 i | —
>i000 > L —()— ]
26000 ;.
5000 :_ }— 3
25800 -
25600 .
0 P T T P T PR T PO P P

0.98 8 8 0 01 02 03 04 05 06 07 08 09 1




1.00<p, <2.00, -0.20<y<0.00, 0/7<]cos(8*)[<1/7, cent(40-80)

2000~

Yields

(Odata
—sig+res

='res

Entries 2243

Mean 1.021]
Std Dev 0

2000

000

Yields

Odata
=—sig+res

=res

Entries 2639

Mean 1.02
Std Dev 0

2000

Yields

(Odata
= sig+res
= res

Entries 3511
Mean 1.019
Std Dev_0.005217

2000

Yields

000

2000

000

15000

#9000

Yield

5000

1.00<p <2.00, -0.20<y<0.00, 1/7<[cos(8")[<2/7, cent(40-80)

[T i i T i i i T i i i Entries 2723 i
L Mean 1.021
| Odata Std Dev 0

[ [=sigtres 1

[ |=res i

[~~~ T T T T T Tenries 2621
| Mean 1.02
Std Dev 0
L |Odata -
I [=sig+res 1
= res 7

1.00<p_<2.00, -0.20<y<0.00, 0/7<|c0s(8*)|<7/7, Cent(40-80)

e e E e e e
Entries

19098
1.02
0

[ Mean
r Std Dev

2000

2000

Yields

1000

1.00<p, <2.00, -0.20<y<0.00, 2/7<]cos(8%)[<3/7, cent(40-80)

[~ |Odata
= Sig+res

= res

Entries 2438
Mean 1.021
Std Dev 0

Odata
= sig+res

= res

Entries 2923
Mean 1.02
Std Dev 0.002168

eta_6_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

25800

25600

25400

25200

25000

24800

24600

24400

Entries 7
Mean  0.5011
Std Dev_0.2849

0 01 02 03 04 05 06 0.7 0.8

09 1




1.00<p_<2.00, 0.00<y<0.20, 0/7<|cos(8*)|<1/7, cent(40-80) 1.00<p, <2.00, 0.00<y<0.20, 1/7<|cos(8*)|<27, cent(40-80) 1.00<p, <2.00, 0.00<y<0.20, 2/7<|cos(6)|<3/7, cent(40-80)

F i i T i i i T i i i Entries 2230 [ i i T i i i T i i i Entries 2565 F i i T i i i T i i i Entries 2622
L Mean 1.021] B Mean 1.02 L A Mean 1.021
Std Dev 0 L Std Dev 0.003075 : Std Dev 0
2000 [Odata = 2000 [Hdata . 2000}~ [Odata =
[ [=sig+res ] [ |—sig+res ] [ |=sig+tres ]
= res 1500f- [= 'res - [ [= res A
[%) o [ ]
o S} 1
2 QL r 1
4000 $3.000 r b
500 -1
0 0 - J
0.98 0.98
o
M(K™,K)
: i i i T i i i T i i i Entries 2701 : i i i T i i i T i i i Entries 2454 I i i i T i i i T i i i Entries 3007
L Mean 1.02 L Mean 1.021 N Mean 1.02
2000 Std Dev 0.001703 2000 Std Dev 0 2000} Std Dev 0.003125
I |Odata I |Odata e [ |Odata 7
[ |=—sig+res ] I [=sig+tres 1 I [=sigtres E
15001~ | res ] 1500~ |= res 1 1500p- |= res ]
[%2] r 1 [%2] - E [%2] o 4
S [ ] S 1 S 1
Boool- 3 Lol ] L oook ]
SOF ] S1000[- ] 1000 1
oo 7] 500 - E 500}~ -
0 _— 0 -_ 3 0] o
0. 0.98 0.98 1 1.02 1.04
+ - + - + 0,
M(K",K) M(K",K") M(K",K)
1.00<p_<2.00, 0.00<y<0.20, 6/7<|cos(8*)|<7/7, cent(40-80) 1.00<p, <2.00, 0.00<y<0.20, 0/7<|cos(6*)|<7/7, Cent(40-80) eta_7_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_inte
T T —— T T S A A A At s M At bt e -
[ ‘N, Mean 102 15000} % Mean 102 25000~ | Mean  0.4969
2000 Std Dev_0.001468 - Std Dev. 0 o Std Dev 0.2857
[ [Odata . [ o ] 24800 | A =
I . 1 L o i ]
L |—sig+res 1 I ® ] 24600F 4\ | E
B b o 1 4 - 4
1500 |= res ] 10000}~ (:) ! - 24400F 3
o | ] | ' @ 1 : | ]
S} g o 24200F e
- 1 - - -
So00F- . s F 3 (@] 1 24000F | L~ —d
L ] 5000} 3 (? ] 23800F | | | | 3
r ] | ] 3 v
500 ] % 23600F ——
[ ] ¢ s i :
[ ] @ 23400 3
op = : S Op = : r 282008, e L L L
0.98 X 098 ! f 0 01 02 03 04 05 06 07 08 09 1



1.00<p_<2.00, 0.20<y<0.40, 0/7<|cos(8*)|<1/7, cent(40-80) 1.00<p <2.00, 0.20<y<0.40, 1/7<|cos(8*)|<27, cent(40-80) 1.00<p, <2.00, 0.20<y<0.40, 2/7<|cos(6)|<3/7, cent(40-80)

Entries 2340

— T T T T T T - —I — T T T T T T — T T T T T T
r Entries 2078 Entries 2123

| Mean 1.021 o Mean 1.021 Mean 1.021
Std Dev 0 Std Dev 0 Std Dev 0
2000 [Odata = 2000 [Odata ! 2000 | data
[ [=sig+res ] [ |[=sigtres 1 = Sig+res
[ |=res 1 [ |=res i 1500~ [= res
[%2] [%2] [%2]
o o i)
2 2 2
>-1000 >-1000 >_1000

500

EPEFEE BT BN B

e I L S L WL L L B L B N L

S o
o]

i i i T i i i T i i i Entries 2338 o i i i T i i i T i i i Entries 2677 r i i i T i i i T i i i Entries 3000
o QD Mean 1.021] r Mean 1.02 L Mean 1.02
Std Dev 0 - Std Dev 0.002419 Std Dev 0.001813
20001~ [ data 20001~ |~ data ] 2000 |Odata
[ |=—sig+res A [ |—sig+res ] [ |=—sig+tres ]
[ |=res 1 1500f |= res . - res 1
%) o [ ] [%)
o ot ] o
2 Q2 r 1 2
el 1000~ - 571000
500~ —
0 - 0
0.98 0.
-
M(K",K")
1_00<p <2.00, 0_20<y<0_40v 0/7<|CDS(9")|<7/7, Cem(AO-EO) eta_8_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
.
T T T 26000 T T -
| @ Mean 1.02 15000 Mean 1.021 r Mean  0.498
Std Dev 0.002605 L Std Dev 0 25800 = Std Dev 0.2864
2000 [Odata - [ ® i s ]
L [=sig+res E H To) 1 25600 7
L (:) 1 ] E 1
= res 1 10000 . 25400E =
L . i I A ' .
[%) a [ HO) 1 t ' ]
i i) 25200 —C=-] ;.
= = | ® ] I 1
o o o) ] ]
>1000 > T (:) ' ] 25000 -
S0 é % T 24800 3
a 24600 [ 3
24400F -
0 P NPT PPN FPTTE FTTE FYTTE FPPTE PETH FTP PO
098 0 0102 03 04 05 06 0.7 08 09 1




1.00<p_<2.00, 0.40<y<0.60, 0/7<|cos(8*)|<1/7, cent(40-80)

2000

I |Odata
1500~ [==sig+res

r |='res

Entries 2035
Mean 1.021]
Std Dev 0

2000-—
[ |Odata
[ |=sig+res
1500
L |= res
o [
S [
DBooo|-
>- L

500

o

Entries 2701
Mean 1.02
Std Dev0.003994

T
2000-—
[ |Odata
[ [=sig+res
1500r |- res
o
s |
< |
Lol
>_000_
500 [~
op =
0.98

Entries 2809
Mean 1.019

Std Dev_0.004354

1.00<p, <2.00, 0.40<y<0.60, 1/7<|cos(8*)|<27, cent(40-80)

2000

I |Odata
1500 |==sig+res
= res

Entries
Mean

Std Dev

2177
1.02
0

2835
1.02
0.004163

17366
1.02
0.002557

n
°
000
~
500
0
0.98
1.00<pr<2.00‘ 0.40<y<0.60, 4/7<|cos(6*)|<5/7, cent(40-80)
B i i i T i i T i Entries
2000~ ‘) Mean
- Std Dev
[ |Odata
| [=sig+res
15001~
F |=res
o [
o [
Booo|-
>_ L
500
0
0.98
-
M(K",K")
1.00<p, <2.00, 0.40<y<0.60, 0/7<|cos(6*)|<7/7, Cent(40-80)
15000 ——————
Entries
I Mean
B Std Dev
L @|
L [P
1
10000~ 'o}
o 1
g PO
r 1
3 @
> | ® Q
5000~ (b ®
KO)
(1)
()

1.00<p, <2.00, 0.40<y<0.60, 2/7<|cos(6)|<3/7, cent(40-80)

Entries

2000~
Mean

Std Dev

2396
1.02

I |Odata
1500|- |==sig+res

= res

500

Entries

2000

Mean

Std Dev.

2413
1.019
0.001834

Odata
= sig+res

.
a1
=}
=}

L

= res

500

o

eta_9_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

23400 F T T T T T T e

23200 | Mean

7
0.5069

LStd Dev 0.2862

23000
22800
22600
22400
22200
22000 | | .’ | -
L .- |

21800

21600
21400

0 01 02 03 04 05 06 07 08 09

1




1.00<p_<2.00, 0.60<y<0.80, 0/7<|cos(8*)|<1/7, cent(40-80)

800

L s 1o]
Mean 1.021

Odata Std Dev . 0

—sig+res ]

= res 1

800

1000

Yields

Odata
=—sig+res
- res

Entries 898
Mean 1.021]
Std Dev 0

(Odata
= sig+res
= res

Entries 1427
Mean 1.019
Std Dev_0.005747

1.00<p, <2.00, 0.60<y<0.80, 1/7<|cos(8*)|<27, cent(40-80)

800

600

Yields

[ |Odata
|- [=sig+res

= res

Entries
Mean
Std Dev

930
1.02
0

1000

Odata
=sig+res

= res

6000

4000

Yields

2000

Entries 1228

¢ Mean 1.02

Std Dev 0.003826

1.00<p, <2.00, 0.60<y<0.80, 0/7<|cos(®)|<7/7, Cent(40-80)

Entries 7360
Mean 1.02
Std Dev0.0006728

@ '

1.00<p, <2.00, 0.60<y<0.80, 2/7<|cos(6)|<3/7, cent(40-80)

800

600~

(Odata
= Sig+res

= res

Entries

T
. Mean

Std Dev

796
1.021
0

Yields

Odata
= sig+res
- res

SR

ol

B

Entries 1061
Mean 1.019

Std Dev 0.003612

eta_10_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte

10200

10000

9800

9600

9400

9200

9000

8800

8600

8400

Entries 7
Mean? 0.5159
LStd Dev 0.2875

0

0.1 02 03 04 05 06 07 08 09

iN A



Yields

Yields

Yields

1.00<p_<2.00, 0.80<y<1.00, 0/7<|cos(8")|<1/7, cent(40-80) 1.00<p, <2.00, 0.80<y<L.00, 1/7<[cos(6*)|<2/7, cent(40-80) 1.00<p, <2.00, 0.80<y<1.00, 2/7<|cos(®)|<3/7, cent(40-80)

T T T T T T T T T T - T T T T T T T T T T T T T T T T T T T T - ——
| Entries 299 Entries 118 Entries 194
L Mean 0.8241 40 Mean 1.02 B Mean 1.028
L Std Dev 0 Std Dev  0.00619 Std Dev 0
20 |Odata = I [Odata I |Odata
| [=sig+res ] —sig+res I |=sig+tres 1
I |='res 4 20 = res
10 1) )
i T 2 k=)
[ 2 2
[ > >
O =
3 0
r 0
—10}
L.
0.98 ™ 1.02 104 0.98 0.98
+ - + -
M(K",K) M(K".K)
1.00<p, <2.00, 0.80<y<1.00, 3/7<|cos(6)|<4/7, cent(40-80)
i i i T i i i i i i Entries 152 i i i T i i i f i i i Entries 161 60— i i i T i i i i i i Entries 213
40— ! Mean 1.02 40 Mean  1.025 L Mean 1018
Std Dev 0 Std Dev 0 Std Dev 0.009463
I |Odata I |Odata 7 [ |Odata
[ [=sig+res ] I [=sig+res 1 0 = sig+res
= res ] F |='res = res
0 L - (%]
o o
@t 2
> ¢ > 2
Of = = ---
-
L 0
[ A P [HR
0.98 1 1.02 1.04 0.98
-
M(K",K)
1.00<p_<2.00, 0.80<y<1.00, 0/7<|CUS(9")|<7/7, Cem(AO-EO) eta_11 pt 0_Centrality 0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
T
60fF—T—T—T——T—T— T — — Enmesm? i A LA R A Lk M LA b e -
r Mean 1.017 Mean 1.021 o Mean  0.5199
L Std Dev 0.009898 Std Dev 0 B Std Dev 0.2794
Odata [
3 1 450~ AN | -
= sig+r r :
aol- | SOMES . [ _._| ‘ ‘ | ]
400 | - i ) ‘ - | -
20 350~ | | -1
300F -
T I FETTY FTTT FETTE FETTY PAUTE FOTT AT A

0 01 02 03 04 05 06 07 08 09

[N



Yields

Yields

Yields

1.00<p_<2.00, 1.00<y<1.20, 0/7<|cos(8")|<1/7, cent(40-80)

I R B 5

L Mean 0

L Std Dev 0
0sl- [Odata ]

[ |—sig+res ]

I |=res 1
0.6 —
0.4} -
0.2} —

[ Lo I | I Y ]

05 T O3 07
-
M(K",K)

0.8

0.6

0.4

0.2

1.00<p <2.00, 1.00<y<1.20, 3/7<|cos(@)|<4/7, cent(40-80)

S S e s =
L Mean 0
L Std Dev 0
[ [Odata ]
[ |—sig+res ]
I |=res 1
-_ e 1 P T
8 1 1.02 1.04
-
M(K",K)

1.00<p, <2.00, 1.00<y<1.20, 6/7<|cos(6")|<7/7, cent(40-80)

I————r—r——

L Entries 0

- Mean 0

- Std Dev 0
0sl [Odata ]

[ |—sigtres ]

[ |='res b
0.6~ -1
0.4 -1
0.2~ -1

L " 1 1 " | - ]

8.98 1 1.02 1.04
M(K",K")

Yields

Yields

Yields

1.00<p, <2.00, 1.00<y<1.20, 1/7<[cos(6*)|<2/7, cent(40-80)

b o e e e LA s 5
Mean 0
Std Dev 0
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -
0.4 -
0.2~ -
L i 1 | I
93 1 02 67
-
M(K",K)
1.00<p, <2.00, 1.00<y<1.20, 4/7<[cos(6*)|<5/7, cent(40-80)
B o O I S p —
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres
I |=res
0.6 -
0.4 -
0.2 -
L i 1 | I
&.98 1 1.02 1.04
P
M(K",K)
1.00<p_<2.00, 1.00<y<1.20, 0/7<|cos(8*)|<7/7, Cent(40-80)
1 T T T T T T T T T T T
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -
0.6 -
0.4 -
0.2 -
L PR WU SR N S S T | - -l
(5)98 1 1.02 1.04

Yields

Yields

1.00<p, <2.00, 1.00<y<1.20, 2/7<|cos(8)|<3/7, cent(40-80)

T
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres
I |= res
0.6 —
0.4 -
0.2 _
[ I [ N
R I— 53 07
o
M(K",K")
1.00<p, <2.00, 1.00<y<1.20, 5/7<|cos(6*)|<6/7, cent(40-80)
I————T7
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres
r |= res
0.6 -
0.4 -
0.2 -
L Lo ] | T Y
055 1 1.02 104
.-
M(K",K)
eta_12_pt 0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e
- Mean
o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




Yields

Yields

Yields

1.00<p_<2.00, 1.20<y<1.50, 0/7<|cos(8")|<1/7, cent(40-80)

I R B = 5

L Mean 0

L Std Dev 0
0sl- [Odata ]

[ |—sig+res ]

I |=res 1
0.6 —
0.4} -
0.2} —

[ Lo I | I Y ]

05 T O3 07
-
M(K",K)

0.8

0.6

0.4

0.2

1.00<p <2.00, 1.20<y<L.50, 3/7<|cos(@)|<4/7, cent(40-80)

S S e s =
L Mean 0
L Std Dev 0
[ [Odata ]
[ |—sig+res ]
I |=res 1
-_ e 1 P T
8 1 1.02 1.04
-
M(K",K)

1.00<p, <2.00, 1.20<y<1.50, 6/7<|cos(®")|<7/7, cent(40-80)

I————r—r——

L Entries 0

- Mean 0

- Std Dev 0
0sl [Odata ]

[ |—sigtres ]

[ |='res b
0.6~ -1
0.4 -1
0.2~ -1

L " 1 1 " | - ]

8.98 1 1.02 1.04
M(K",K")

Yields

Yields

Yields

1.00<p, <2.00, 1.20<y<L50, 1/7<[cos(6*)|<2/7, cent(40-80)

T S
Mean 0
Std Dev 0
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -1
0.4} -
0.2 —
L i 1 | I
93 1 02 67
-
M(K",K)
1.00<p, <2.00, 1.20<y<L50, 4/7<[cos(6*)|<5/7, cent(40-80)
I
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres
I |=res
0.6 —
0.4 -
0.2 —
L i 1 | I
&.98 1 1.02 1.04
P
M(K",K)
1.00<p_<2.00, 1.20<y<1.50, 0/7<|cos(3*)|<7/7, Cent(40-80)
1————T——— =
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l
(998 1 1.02 1.04

Yields

Yields

1.00<p, <2.00, 1.20<y<1.50, 2/7<|cos(®)|<3/7, cent(40-80)

T
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres
I |= res
0.6 —
0.4 -
0.2 _
[ I [ N
R I— 53 07
o
M(K",K")
1.00<p, <2.00, 1.20<y<1.50, 5/7<|c0s(6*)|<6/7, cent(40-80)
I———r7
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres
r |= res
0.6 -
0.4 -
0.2 -
L Lo ] | T Y
055 1 1.02 104
.-

M(K",K)
eta_13_pt_0_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e

- Mean

o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




2.0

0<p, <5.00, -1.50<y<-1.20,

0/7<|cos(6*)|<1/7, cent(40-80)

2.00<p <6.00

, -1.50<y<-1.20, 1/7<|cos(8¥)|<2/7, cent(40-80)

e LB = 5 e — S
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sl- [Odata ] 0sl- [Odata ]
[ [=sig+res ] [ [=sigtres 1
I |=res 1 [ |=res 1
P E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> ol - > ol -
0.2 . 0.2}~ _
[ Lo I | I Y ] L i 1 L | - ]
05 T O3 07 &8s T 07 TO%
+ - + -
M(K",K) M(K",K")
2.00<p_<5.00, -1.50<y<-1.20, 3/7<|cos(8")|<4/7, cent(40-80) 2,00<p, <5.00, -1.50<y<-1.20, 4/7<|cos(8")|<5/7, cent(40-80)
| T T Entries 0 | T T Entries 0
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sk [Odata . 0sk [Odata -
[ |—sig+res ] [ [—sig+res ]
I |=res 1 [ |=res 1
] — o 06 -
S [ ] S [ ]
2 [ ] 2 [ ]
> ol — > 04l -
0.2f- — 0.2f- -
-_ A 1 I B L. 1 [— -
05 1 102 104 ) T 102 T.04
+ 0, + -
M(K",K) M(K",K")
2.00<p_<5.00, -1.50<y<-1.20, 6/7<|cos(6")|<7/7, cent(40-80) 2.00<p_<5.00, -1.50<y<-1.20, 0/7<|cos(8")|<7/7, Cent(40-80)
1 T T T T T T T T — —— 1 T T T T T T ——
L T T Entries 0 L T T Entries 0
L Mean 0 L Mean 0
- Std Dev. 0 - Std Dev 0
0sl [Odata m osl- ]
[ |—sigtres ] [ ]
I |=res 1 r 1
0 06 E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> oal E > o4l —
0.2 E 0.2 —
L " I 1 . | - ] L SIS WU S N SR S T | -k -l ]
8.98 1 1.02 1.04 (?98 1 1.02 1.04
+ - + -
M(K™,K") M(K™,K")

Yields

Yields

2.00<p_<5.00.

, -1.50<y<-1.20, 2/7<|cos(8*)|<3/7, cent(40-80)

T >

: Mean 0

L Std Dev 0
0gl |[Odata ]

[ [=sigtres ]

I |= res 1
0.6 —
0.4 -
0.2 -

[ I [ B

R I— 53 07
o
M(K",K")
2.00<p, <5.00, -1.50<y<-1.20, 5/7<|cos(8*)|<6/7, cent(40-80)
I————T 1

L Entries 0

L Mean 0

L Std Dev 0
0sl |Odata ]

[ [=sigtres ]

r |= res 1
0.6 -
0.4 -
0.2 -

L Lo ] | T Y ]

055 1 1.02 104
.-
M(K",K)
eta_0_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
] T T T T T T —— -
- Mean 0
o Std Dev 0
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



2.0

0<p, <5.00, -1.20<y<-1.00,

0/7<|cos(6*)|<1/7, cent(40-80)

2.00<p <6.00

, -1.20<y<-1.00, 1/7<|cos(8¥)|<2/7, cent(40-80)

e LB = 5 e — S
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sl- [Odata ] 0sl- [Odata ]
[ [=sig+res ] [ [=sigtres 1
I |=res 1 [ |=res 1
P E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> ol - > ol -
0.2 . 0.2}~ _
[ Lo I | I Y ] L i 1 L | - ]
05 T O3 07 &8s T 07 TO%
+ - + -
M(K",K) M(K",K")
2.00<p_<5.00, -1.20<y<-1.00, 3/7<|cos(8")|<4/7, cent(40-80) 2,00<p, <5.00, -1.20<y<-1.00, 4/7<|cos(8)|<5/7, cent(40-80)
| T T Entries 0 | T T Entries 0
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sk [Odata . 0sk [Odata -
[ |—sig+res ] [ [—sig+res ]
I |=res 1 [ |=res 1
] — o 06 -
S [ ] S [ ]
2 [ ] 2 [ ]
> ol — > 04l -
0.2f- — 0.2f- -
-_ A 1 I B L. 1 [— -
05 1 102 104 ) T 102 T.04
+ 0, + -
M(K",K) M(K",K")
2.00<p_<5.00, -1.20<y<-1.00, 6/7<|cos(6")|<7/7, cent(40-80) 2.00<p_<5.00, -1.20<y<-1.00, 0/7<|cos(8")|<7/7, Cent(40-80)
1 T T T T T T T T — —— 1 T T T T T T ——
L T T Entries 0 L T T Entries 0
L Mean 0 L Mean 0
- Std Dev. 0 - Std Dev 0
0sl [Odata m osl- ]
[ |—sigtres ] [ ]
I |=res 1 r 1
0 06 E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> oal E > o4l —
0.2 E 0.2 —
L " I 1 . | - ] L SIS WU S N SR S T | -k -l ]
8.98 1 1.02 1.04 (?98 1 1.02 1.04
+ - + -
M(K™,K") M(K™,K")

Yields

Yields

2.00<p_<5.00.

, -1.20<y<-1.00, 2/7<|cos(6*)|<3/7, cent(40-80)

T >

: Mean 0

L Std Dev 0
0gl |[Odata ]

[ [=sigtres ]

I |= res 1
0.6 —
0.4 -
0.2 -

[ I [ B

R I— 53 07
o
M(K",K")
2.00<p, <5.00, -1.20<y<-1.00, 5/7<|cos(8*)<6/7, cent(40-80)
I———r7 1

L Entries 0

L Mean 0

L Std Dev 0
0sl |Odata ]

[ [=sigtres ]

r |= res 1
0.6 -
0.4 -
0.2 -

L Lo ] | T Y ]

055 1 1.02 104
.-
M(K",K)
eta_1_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
] T T T T T —— -
- Mean 0
o Std Dev 0
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

o

o

2.00<p <5.00, -1.00<y<-0.80, 0/7<[c0S(8*)|<L/7, cent(40-80) 2.00<p <5.00, -1.00<y<-0.80, 1/7<[cos(8")|<2/7, cent(40-80) 2.00<p_<5.00, -1.00<y<-0.80, 2/7<[cos(")|<3/7, cent(40-80)

i i i T i i i T i i i Entries 138 i i i T i i i i i i Entries 128 B i i i T i i i T i i i Entries 153
i 20~ 30
Mean 1.017 Mean 1.02 Mean 1.018
Std Dev  0.01086 B Std Dev  0.01151 [ Std Dev 0.006995
I |Odata | |Odata I |Odata
|l |=sig+res I |=—sigtres I [=sigtres
L L 20
= res A = res = res
[ o 10 %)
[ S} i)
B 2 2
L > T > 10
b - O =
L L 0
058 T T02 Toa < 098 1O 102 To4 098
+ - + -
M(K",K) M(K",K")
[~~~ T 7 T T T TEnwies . 202 F T Entries 151 [~ T T T T TEnmes 150
L Mean 1.016 B Mean 1.024 20| Mean 1.015
| Std Dev 0 20 Std Dev 0 B Std Dev 0
Odata i | |Odata I |Odata
| [=sig+res [ [=sig+res = sig+res
[ [=res |
n 10+ 0 10
B o ] o
r 2 2
3 > T >
Ofe = 0
E N 102 1.04 098 7 102 104 0.98
+ 0, +
M(K",K) M(K",K")
2.00<p, <5.00, -1.00<y<-0.80, 6/7<|cos(8")}<7/7, cent(40-80) 2.00<p_ <5.00, -1.00<y<0.80, 0/7<|c0s(8")|<7/7. Cent(40-80) eta_2_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_inte
I e B IR e — T T T ——— A M M A B e -
r Mean 1018 [ Mean 1.019 F Mean  0.5409
i Std Dev_0.006789 I Std Dev_0.006768 300 Std Dev 0.2827
[ [Odata E — A
; 280 =
[ |=sig+res : | ]
[ 260F | | 3
3 240F —O— | | A 4
I 220F | —OO="Y | e
C 200 | | | 3
L 180F | | 3
- 160F | - 3
F 140 —:
o T T U T PR T PR O P
.98

0 01 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

2.00<p <5.00, -0.80<y<-0.60, 0/7<[c0S(8*)|<1/7, cent(40-80)

150

(Odata
—sig+res

='res

Entries
Mean

Std Dev

290
1.018
0

2.00<p <5.00

150 — T T T T = -
| Entries 460
Mean 1.02
I Std Dev 0.006179
I |Odata
100} |=Sigtres i
= res
| ! ! ! T ! ! ! Entries 241
Mean 1.02
r Std Dev_0.005163
100l |Odata ]
I [=sig+res 1
[ [=res A
50
[o] 2
0.98 1~ 1.02 1.04

2.00<p <5.00, -0.80<y<-0.60, 1/7<[cos(6)|<2/7, cent(40-80)

100

50

Yields

(Odata
—sig+res

= res

Entries 187
Mean 1.019
Std Dev 0.007049

100

Yields

Odata
=sig+res

= res

Entries 425
Mean 1.02

Std Dev 0.008077

2.00<p_<5.00, -0.80<y<-0.60, 0/7<[c0s(8")|<7/7, Cent(40-80)

800 -

Entries 2166
Mean 1.02
Std Dev_0.00513

2.00<p <5.00, -0.80<y<-0.60, 2/7<|c0S(8")|<3/7, cent(40-80)

100l [Odata
I [=sigtres

= res

Entries 228

Mean 1.021
Std Dev 0

- ! ! ! T Entries 335
| Mean 1.022
Std Dev 0.004906
I |Odata
100~ . -
[ |=sig+res ]
L |= res
ot
S |
2
= 50—
O
0.98

eta_3_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

1450

1400

1350

1300

1250

1200

L I I I I I I

Entries 7
Mean  0.4931
Std Dev 0.2855

0 01 02 03 04 05 06 07 08 09 1



2.00<p <5.00, -0.60<y<-0.40, 0/7<[c0S(8*)|<L/7, cent(40-80)

150 -

50

(Odata
—sig+res

='res

Entries
Mean
Std Dev

352
1.021
0

150 -

50

Odata
=—sig+res

=res

Entries

Mean

Std Dev0.004737

377
1.02

200

150

50

o

(Odata
= sig+res
= res

Entries

Mean

Std Dev_0.005694

516
1.019

2.00<p <5.00, -0.60<y<-0.40, 1/7<[cos(6)|<2/7, cent(40-80)

150 -

100

Yields

50

(Odata
—sig+res

= res

Entries
Mean

Std Dev 0.005168

396
1.02

Odata
=sig+res
- res

Entries

Mean

Std Dev 0.004078

401
1.021

2.00<p_<5.00, -0.60<y<-0.40, 0/7<[c0s(8")|<7/7, Cent(40-80)

1000~

Yields

Entries

Mean

Std Dev_0.003522

2797
1.02

2.00<p, <5.00, -0.60<y<-0.40, 2/7<|c0S(8*)|<3/7, cent(40-80)

| i i i T i i i i i Entries 296
150 Mean 1.02
L Std Dev 0
[ [Odata ]
[ [=sigtres ]
100} |= res
w
3
2 [
> 50—
0 - -@
098"
+ -
M(K",K")
2.00<p, <5.00, -0.60<y<-0.40, 5/7<|cos(8*)<6/7, cent(40-80)
B ! ! ! T ! ! ! ! ! Entries 459
200 I Mean 1.02
o Std Dev 0.003093
[ |Odata
I [=sigtres
150~ g
[ |= res
[7)] -
he} L
O 100
> I
50—
Ofe
098
eta_4_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
DT s LA ML RS LA LAAM Al A o Perree .
r Mean  0.4985
2050 :_ Std Dev - 0.285
2000 - ‘_—‘I‘— =
1950 T—(i— | 3
1900F ]
1850F ]
1800 -
FEETY FEETY FETTY FEUTE FRURE PAUR FRATY FRATY SATTd e
0 01 02 03 04 05 06 0.7 08 09 1



200

2.00<p, <5.00, -0.40<y<-0.20, 0/7<[c0S(8)|<L/7, cent(40-80)

150

50

o

Std Dev 0.003919

Entries 431
Mean 1.02

(Odata
—sig+res

='res

200

200

150

Yieldf

@
o o
L S B B S B B B S B |

o

o
oF—T-T
oo

Entries 422
Mean 1.019

Std Dev 0.000561

Odata
=—sig+res

=res

(Odata
= sig+res
= res

Entries 381
Mean 1.02
Std Dev_0.002263

o
®

2.00<p <5.00, -0.40<y<-0.20, 1/7<[cos(8)|<2/7, cent(40-80)

(Odata
—sig+res

= res

Entries 395
Mean 1.019
Std Dev 0

Odata
=sig+res
- res

Entries 435
Mean 1.02
Std Dev 0.004913

2.00<p_<5.00, -0.40<y<-0.20, 0/7<[c0s(8")|<7/7, Cent(40-80)

1000

Entries 2802
Mean 1.02
Std Dev_0.003457

2.00<p, <5.00, -0.40<y<-0.20, 2/7<|c0S(6*)|<3/7, cent(40-80)

Entries 392
Mean 1.02

Std Dev 0.001843

——
200
[ |Odata
150~ [=sig+res
[ |- res
g !
ElOO_—
s f
50
Ofp=
0.98

150 [Odata
l [=sigtres
- res

Entries 347
Mean 1.02
Std Dev 0.005883

50

eta_5_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

2300 e

2200

2100

2000

1900

1800

Entries 7
Mean  0.4993
Std Dev 0.2818

0 01 02 03 04 05 06 07 08 09

N TP |



2.00<p, <5.00, -0.20<y<0.00, 0/7<|cos(8")|<1/7, cent(40-80)

o

o
orTT
oo

Entries 305
Mean 1.019
Std Dev 0

(Odata
—sig+res

='res

! ! ! T ! ! ! ! ! ! Entries 426

| Mean 1.019

O d t Std Dev 0.003335
ata Y 3
=—sig+res 1
- res ]

2.00<p <5.00, -0.20<y<0.00, 1/7<[cos(8")[<2/7, cent(40-80)

4
o
|

Yields

Entries 340
Mean 1.02

Std Dev_0.004534

- |Odata
= sig+res
= res

2.00<p <5.00, -0.20<y<0.00, 2/7<|cos(8")|<3/7, cent(40-80)

200 T T T T T T T T T T Tenies 435
[ Mean 1021
r [Odat Std Dev0.0008893
L ata ]
150 . -
L |=sSligtres ]
I |= res i
100~ -
50— -
Of=
0.98 1 1.02 304

Entries 460
Mean 1.02

150 Std Dev 0.004827

Odata
[ [=sigtres
- res

50

eta_6_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

2200 Entries 7
Mean  0.4969

Std Dev_0.2879

2150

2100

[T

2050

2000

1950

1900

1850

0.1 02 03 04 05 06 07 08 09

N T T U |

o



Yields

Yields

2.00<p <5.00, 0.00<y<0.20,

, 0/7<|cos(8%)|<1/7, cent(40-80)

150~

(Odata
—sig+res

='res

Entries 429
Mean 1.021
Std Dev 0.005739

150

50

Odata
=—sig+res
- res

Entries 629

Mean 1.019
Std Dev0.007868

150~

50

(Odata
= sig+res
= res

Entries 412
Mean 1.019
Std Dev_0.004874

200

2.00<p <5.00, 0.00<y<0.20, 1/7<|cos(8*)|<27, cent(40-80)

150

50

(Odata
—sig+res

= res

Entries 407
Mean 1.021
Std Dev 0.002375

4
o
|

Yields
= - .
S g 5

a
=}

o

— T T T T T T
Entries 470
Mean 1.02
Std Dev 0.005161

Odata
=sig+res

= res

b LB L L N N B B B S B R BB L |

o

1000~

Yields

Entries 3113
Mean 1.02
Std Dev__0.00491

2.00<p, <5.00, 0.00<y<0.20, 2/7<|cos(6)|<3/7, cent(40-80)

200

150

50

o

4
=

LI B B B s S ) p e - S—
Entries 296
Mean
Std Dev 0

1.02

(Odata
= Sig+res

= res

150~

Yields

Entries
Mean

Std Dev  0.00392

470
1.02

Odata
= sig+res

= res

eta_7_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

2150

2100

2050

2000

1950

1900

1850

1800

[BAARE AN LAY LA R LARLY RAARE LA L

1750

0

Entries 7

Mean 0.5016

‘ Std Dev 0.2876
....I....I....I....I....I....I....I....I....I...E
0.1 02 03 04 05 06 07 08 09 1



Yields

2.00<p_<5.00, 0.20<y<0.40, 0/7<|cos(8*)|<1/7, cent(40-80)

2.00<p, <5.00, 0.20<y<0.40, 1/7<|cos(8*)|<27, cent(40-80)

Entries
Mean

Std Dev 0.005582

496
1.02

150

(Odata
I [=sigtres

= res

2.00<p, <5.00, 0.20<y<0.40, 2/7<|cos(®)|<3/7, cent(40-80)

[ 7 7 T T T T Tenwes 435
r Mean 102
I Std Dev 0.004805
I |Odata
150 |- —
[ |=SsIgtres T
| |='res T
100~ —
50 a
O =
0.98
+ -
M(K*,K)
- 77 T T T Tewes 465
I Mean 1.019
I Std Dev_0.006233
I |Odata
150 - ) -
I |[=—slgtres 1
F |='res 1
100~
50
O =
0.98
2.00<p, <5.00, 0.20<y<0.40, 6/7<|cos(6)|<7/7, cent(40-80)
[ & 7 7 T T T T T e 474
+ Mean 1.019
150 Std Dev_0.004243
| |Odata T
[ [—sig+res ]
I |='res
100 |~
50
O =
0.98

100
o
2
>
50
0
0.98
2.00<p, <5.00, 0.20<y<0.40, 4/7<|cos(8*)|<5/7, cent(40-80)
F T T T T T T T T T T T = _
200 (# Entries 464
- Mean 1.02
r Std Dev 0
I |Odata A
150~ |==sig+res
[ |='Tes
) -
D100t
QL
> I
50—
Ofe =
E L)
0.98 1 1.02 1.04
+ -
M(K",K)
2.00<p, <5.00, 0.20<y<0.40, 0/7<|cos(8")|<7/7, Cent(40-80)
T T T T T T T T T T T i - ——
Entries 3312
B Mean 1.019
L Std Dev_0.004832
1000~ —

Yields

o i i i T i i i i i i Entries 535
r Mean 1.019
I Std Dev 0.005953
150 [Odata B
l [=sig+tres i
L |- res ]
v 100
E L
Q2 r
s |
50
Of=
098
-
M(K",K")
o ! ! ! T ! ! ! T i i i Entries 442
I Mean 1.019
r Std Dev 0.004429
I |Odata
150 i -
I [=sigtres 1
- - res -
8100 -
c [ ]
= | J
50| ¢ -
O = - - - -
[ -
PR O 1 PR R
0.98 1 1.02 1.047
-
M(K",K)
eta_8_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
B M M e -
E Mean 05036
2250F ‘ Std Dev 0.2854
2200 e 3
2150F ‘ | ‘ 3
2100F E
2050 ‘ ‘ =
2000 | —( =
1950F- ‘ —O— | e
1900F 3
18annnl....I....I....I....I....I....I....I....I...-E
0 01 02 03 04 05 06 07 08 09 1



150

150

Yields

50

200

150

50

2.00<p_<5.00, 0.40<y<0.60, 0/7<|cos(8*)|<1/7, cent(40-80)

(Odata
—sig+res

='res

Entries 445
Mean 1.021
Std Dev 0.005548

I |Odata
| [=sig+res

=res

Entries 290

Mean 1.02

Std Dev0.003279

(Odata
= sig+res
= res

Entries 448
Mean 1.02
Std Dev_0.003904

150

1
17 00
o
2
>
50
0
0.98
-
M(K* K)
200 F——T———
[ Entries 384
| Mean 102
L Std Dev_0.00416
[ |Odata ]
150 H -
[ |—sig+res ]
= res
)
B100
2
=
50
0
0.98
PR
M(K* K)
2.00<p <5.00, 0.40<y<0.60, 0/7<|cos(3*)|<7/7, Cent(40-80)
[~~~ T T Enties 2677
@ Mean 102
I Std Dev 0.003954
1000 - 1 -
]

Yields

2.00<p, <5.00, 0.40<y<0.60, 1/7<|cos(8*)|<27, cent(40-80)

[ |Odata
—sig+res

= res

Entries
Mean

412
1.02

Std Dev 0.006667

2.00<p, <5.00, 0.40<y<0.60, 2/7<|cos(6)|<3/7, cent(40-80)

[~ = T 7 7 T " 7 7 Tewies 309
I Mean 1.02
B Std Dev 0
I |Odata
150~ ) -
I [=sig+res 1
[ |- res 1
[%2] - -
E 100 [ ]
s | ]
P § ]
50 -
O =
098
P
M(K",K)

- i i i T i i i i i i Entries 389
F Mean 1.02
I Std Dev 0.0008931
150 |Odata =
| [=sigtres .
[ |- res ]
v 100~
E -
Q7T
> [
50
Ol =
0.98 *

eta_9_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

A A L Lt Lt s Lk b o P

2200~ Mean  0.5147
o Std Dev 9.2907

2100

2000

1900

1800

1700

0 01 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

2.00<p_<5.00, 0.60<y<0.80, 0/7<|cos(8")|<1/7, cent(40-80)

100~

(Odata
—sig+res

='res

L — T
Entries 435

Mean 1.021
Std Dev 0.002113

Odata
=—sig+res

=res

Entries 358
Mean 1.02

Std Dev0.006462

150 T T i T i i i i ! ! Entries 476
- Mean 1.018
- Std Dev 0.004859
[ [Odata
I [=sig+res
100~
[ |=res
50—
0] S5 &
0.98

2.00<p, <5.00, 0.60<y<0.80, 1/7<|cos(8*)|<27, cent(40-80)

! ! ! T ! ! ! ! ! ! Entries 336
B Mean 1.021
100~ Std Dev 0
| [Odata ]
| [=sigtres ]
[ |=res
o |
E’ 50—
S
L
0
O = ‘,“\
0.98 1 1.02 ~J1.04
‘-
M(K",K)
o ! ! ! T ! ! ! ! ! ! Entries 317
| Mean 1.018
Std Dev 0.005279
100~ [Odata =
[ [=sig+res 1
- res

Yields

2.00<p <5.00, 0.60<y<0.80, 0/7<|cos(3*)|<7/7, Cent(40-80)

Entries 2405

T
8001~ Mean 102
[ Std Dev_0.004055
1

2.00<p, <5.00, 0.60<y<0.80, 2/7<|cos(6)|<3/7, cent(40-80)

T T T T T T T Tenves 243
I ! Mean 102
100~ Std Dev 0.006426
(Odata
| |==sig+res |
L |= res i
(2]
o
2
>
L T T T T T T T Tenties 240
| Mean 1.02
Std Dev 0
I [Odata
100~ .
==Sslgtres
I |= res
%) L
=
(]
'>__ 50—
O =
0.98 *
eta_10_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
IAARY RAAAY R AL AR AR AL LA M e -
N Mean 05174
L Std Dev_0.2899
1500 —
1400 -
1300F - _'|‘_ -
1200f~ | - | i | | -
1100 | | | —
JUETY FEETY FETTE FEUTE FAURE PAUR FRATY FUATY FUTTE e

0 01 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

2.00<p_<5.00, 0.80<y<1.00, 0/7<|cos(8")|<1/7, cent(40-80)

i i i T i i i i i i Entries 130
| Mean 1.015
| Std Dev 0.008013
Odata
201~ .
L [=sig+res
[ |=res
10
O = fo]sid
L 1
0.98 1 1.02 1.047
+
M(K",K)
2.00<p, <5.00, 0.80<y<1.00, 3/7<|cos(6)|<4/7, cent(40-80)
i i i i T i i i i i i Entries 189
30
| Mean 1.022
- Std Dev 0.004594
[ [Odata
L sige
2l |=sigtres
[ |=res
10—
O =
L 1
0.98 1 1.02 1.04
-
M(K",K)
2.00<p,_ <5.00, 0.80<y<1.00, 6/7<|cos(6*)|<7/7, cent(40-80)
i ! ! ! T ! ! ! ! ! ! Entries 123
[ Mean 1.015
20~ Std Dev 0.006876
| [Odata
[ [=sig+res
| [=res
10—
O =
[ 1
0.98 1 1.02 o4

Yields

Yields

Yields

2.00<p, <5.00, 0.80<y<1.00, 1/7<|cos(8*)|<27, cent(40-80)

20

10

(Odata
—sig+res

= res

Entries 116
Mean 1.02

Std Dev 0.005373

201

Odata
=sig+res
- res

Entries 131
Mean 1.022

Std Dev 0.007789

Entries 1053

Mean 1.019

Std Dev_0.006633

Yields

Yields

2.00<p, <5.00, 0.80<y<1.00, 2/7<|cos(®)|<3/7, cent(40-80)

T T

[ Mean 1019
20— Std Dev 0.007415

I |Odata

[ [=sigtres

r |= res

10

0--
—10

0.98 T Toz < 104

P
M(K*,K)
2.00<p, <5.00, 0.80<y<1.00, 5/7<|c0s(6)|<6/7, cent(40-80)
L ! ! ! T ! ! ! ! ! ! Entries 206
| Mean 1.026
Std Dev 0
20 |Odata
= sig+res

10

0

0.98

eta_11_pt 1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
“”U_‘""""""""""""""""'""""Emnes -

: Mean 0.4848
280 Std Dev 0.2872
260 T _‘|‘_ | .
240 | I -1
220F i 3
200~ AN .
180_— ]
LY i TS TR IS PRI PR PR PO TP T

0 01 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

2.00<p_<5.00, 1.00<y<1.20, 0/7<|cos(8")|<1/7, cent(40-80)

I R B 5

L Mean 0

L Std Dev 0
0sl- [Odata ]

[ |—sig+res ]

I |=res 1
0.6 —
0.4} -
0.2} —

[ Lo I | I Y ]

05 T O3 07
-
M(K",K)

0.8

0.6

0.4

0.2

2.00<p <5.00, 1.00<y<1.20, 3/7<|cos(@)|<4/7, cent(40-80)

S S A s =
L Mean 0
L Std Dev 0
[ [Odata ]
[ |—sig+res ]
I |=res 1
-_ e 1 P T
8 1 1.02 1.04
-
M(K",K)

2.00<p, <5.00, 1.00<y<1.20, 6/7<|cos(6")|<7/7, cent(40-80)

I————r—r——

L Entries 0

- Mean 0

- Std Dev 0
0sl [Odata ]

[ |—sigtres ]

[ |='res b
0.6~ -1
0.4 -1
0.2~ -1

L " 1 1 " | - ]

8.98 1 1.02 1.04
M(K",K")

Yields

Yields

Yields

2.00<p <5.00, 1.00<y<1.20, 1/7<|cos(8*)|<27, cent(40-80)

b o e e e LA e 5
Mean 0
Std Dev 0
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -
0.4 -
0.2~ -
L i 1 | I
93 1 02 67
-
M(K",K)
2.00<p <5.00, 1.00<y<1.20, 4/7<|cos(8*)|<5/7, cent(40-80)
B o O I S p —
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres
I |=res
0.6 -
0.4 -
0.2 -
L i 1 | I
&.98 1 1.02 1.04
P
M(K",K)
2.00<p_<5.00, 1.00<y<1.20, 0/7<|cos(3*)|<7/7, Cent(40-80)
1 T T T T T T T T T T T
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -
0.6 -
0.4 -
0.2 -
L PR WU SR N S S T | - -l
(5)98 1 1.02 1.04

Yields

Yields

2.00<p, <5.00, 1.00<y<1.20, 2/7<|cos(®)|<3/7, cent(40-80)

T
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres
I |= res
0.6 —
0.4 -
0.2 _
[ I [ N
R I— 53 07
o
M(K",K")
2.00<p, <5.00, 1.00<y<1.20, 5/7<|cos(6*)|<6/7, cent(40-80)
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres
r |= res
0.6 -
0.4 -
0.2 -
L Lo ] | T Y
055 1 1.02 104
.-

M(K",K)
eta_12_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e

- Mean

o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




Yields

Yields

Yields

2.00<p_<5.00, 1.20<y<1.50, 0/7<|cos(8")|<1/7, cent(40-80)

N R B 5

L Mean 0

L Std Dev 0
0sl- [Odata ]

[ |—sig+res ]

I |=res 1
0.6 —
0.4} -
0.2} —

[ Lo I | I Y ]

05 T O3 07
-
M(K",K)

0.8

0.6

0.4

0.2

2.00<p, <5.00, 1.20<y<1.50, 3/7<|cos(@)|<4/7, cent(40-80)

S S e s =
L Mean 0
L Std Dev 0
[ [Odata ]
[ |—sig+res ]
I |=res 1
-_ e 1 P T
8 1 1.02 1.04
-
M(K",K)

2.00<p, <5.00, 1.20<y<1.50, 6/7<|cos(®)|<7/7, cent(40-80)

I————r—r——

L Entries 0

- Mean 0

- Std Dev 0
0sl [Odata ]

[ |—sigtres ]

[ |='res b
0.6~ -1
0.4 -1
0.2~ -1

L " 1 1 " | - ]

8.98 1 1.02 1.04
M(K",K")

Yields

Yields

Yields

2.00<p <5.00, 1.20<y<1.50, 1/7<|cos(8*)|<27, cent(40-80)

T S
Mean 0
Std Dev 0
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -1
0.4} -
0.2 —
L i 1 | I
93 1 02 67
-
M(K",K)
2.00<p <5.00, 1.20<y<1.50, 4/7<|cos(8*|<5/7, cent(40-80)
I
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres
I |=res
0.6 —
0.4 -
0.2 —
L i 1 | I
&.98 1 1.02 1.04
P
M(K",K)
2.00<p_<5.00, 1.20<y<1.50, 0/7<|cos(8*)|<7/7, Cent(40-80)
1————T——— =
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l
(998 1 1.02 1.04

Yields

Yields

2.00<p, <5.00, 1.20<y<1.50, 2/7<|cos(6)|<3/7, cent(40-80)

T
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres
I |= res
0.6 —
0.4 -
0.2 _
[ I [ N
R I— 53 07
o
M(K",K")
2.00<p, <5.00, 1.20<y<1.50, 5/7<|c0s(6*)|<6/7, cent(40-80)
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres
r |= res
0.6 -
0.4 -
0.2 -
L Lo ] | T Y
055 1 1.02 104
.-

M(K",K)
eta_13_pt_1_Centrality_0_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e

- Mean

o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




1.0

0<p <2.00, -1.50<y<-1.20,

0/7<|cos(6*)|<1/7, cent(10-40)

1.00<p <200

, -1.50<y<-1.20, 1/7<|cos(8¥)|<2/7, cent(10-40)

e LB = 5 e — S
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sl- [Odata ] 0sl- [Odata ]
[ [=sig+res ] [ [=sigtres 1
I |=res 1 [ |=res 1
P E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> ol - > ol -
0.2 . 0.2}~ _
[ Lo I | I Y ] L i 1 L | - ]
05 T O3 07 &8s T 07 TO%
+ - + -
M(K",K) M(K",K")
1.00<p_<2.00, -1.50<y<-1.20, 3/7<|cos(8")|<4/7, cent(10-40) 1.00<p, <2.00, -1.50<y<-1.20, 4/7<|cos(8")|<5/7, cent(10-40)
| T T Entries 0 | T T Entries 0
L Mean 0 L Mean 0
L Std Dev 0 L Std Dev 0
0sk [Odata . 0sk [Odata -
[ |—sig+res ] [ [—sig+res ]
I |=res 1 [ |=res 1
] — o 06 -
S [ ] S [ ]
2 [ ] 2 [ ]
> ol — > 04l -
0.2f- — 0.2f- -
-_ A 1 I B L. 1 [— -
05 1 102 104 ) T 102 T.04
+ 0, + -
M(K",K) M(K",K")
1.00<p_<2.00, -150<y<-1.20, 6/7<|cos(8")|<7/7. cent(10-40) 1.00<p_<2.00, -1.50<y<-1.20, 0/7<|cos(8")|<7/7, Cent(10-40)
1 T T T T T T T T — —— 1 T T T T T T ——
L T T Entries 0 L T T Entries 0
L Mean 0 L Mean 0
- Std Dev. 0 - Std Dev 0
0sl [Odata m osl- ]
[ |—sigtres ] [ ]
I |=res 1 r 1
0 06 E o 06 —
S I 1 S I 1
2 T ] 2 T ]
> oal E > o4l —
0.2 E 0.2 —
L " I 1 . | - ] L SIS WU S N SR S T | -k -l ]
8.98 1 1.02 1.04 (?98 1 1.02 1.04
+ - + -
M(K™,K") M(K™,K")

Yields

Yields

1.00<p <200

, -1.50<y<-1.20, 2/7<|cos(8*)|<3/7, cent(10-40)

T >

: Mean 0

L Std Dev 0
0gl |[Odata ]

[ [=sigtres ]

I |= res 1
0.6 —
0.4 -
0.2 -

[ I [ B

R I— 53 07
o
M(K",K")
1.00<p, <2.00, -1.50<y<-1.20, 5/7<|cos(8*)<6/7, cent(10-40)
I———r7—

L Entries 0

L Mean 0

L Std Dev 0
0sl |Odata ]

[ [=sigtres ]

r |= res 1
0.6 -
0.4 -
0.2 -

L Lo ] | T Y ]

055 1 1.02 104
.-
M(K",K)
eta_0_pt_0_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
] T T T T T —— -
- Mean 0
o Std Dev 0
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



1.0

0<p <2.00, -1.20<y<-1.00,

0/7<|cos(6*)|<1/7, cent(10-40)
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1.00<p <2.00, -1.00<y<-0.80, 0/7<[c0s(8)|<1/7, cent(10-40)
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1.00<p <2.00

, -0.80<y<-0.60, 0/7<|cos(8*)|<1/7, cent(10-40)
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1.00<p <2.00, -0.60<y<-0.40, 0/7<[coS(8*)|<L/7, cent(10-40)
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1.00<p <2.00, -0.40<y<-0.20, 0/7<[coS(8)|<1/7, cent(10-40)
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1.00<p, <2.00, -0.20<y<0.00, 0/7<]cos(8*)[<1/7, cent(10-40)
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1.00<p_<2.00, 0.00<y<0.20, 0/7<|cos(8")|<1/7, cent(10-40)
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1.00<p_<2.00, 0.20<y<0.40, 0/7<|cos(8*)|<1/7, cent(10-40)
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2.0
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2.0

0<p, <5.00, -1.20<y<-1.00,
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2.00<p <5.00, -0.80<y<-0.60, 0/7<[coS(8)|<L/7, cent(10-40)
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2.00<p <5.00, -0.40<y<-0.20, 0/7<[c0S(8)|<1/7, cent(10-40)

1000

500

Yields

I |Odata

1000

Yields

1000

Yields

—sig+res

='res

Entries
Mean
Std Dev

669
1.022
0

- |Odata

=—sig+res

=res

- |Odata
= sig+res
= res

Entries 813
Mean 1.021]
Std Dev 0
Entries 910
Mean 1.021
Std Dev_0.001931

2.00<p <5.00, -0.40<y<-0.20, 1/7<[cos(8)|<2/7, cent(10-40)

1000~

(Odata
—sig+res

= res

Yields

Entries 727
Mean 1.022
Std Dev 0

1000~

Odata
=sig+res
- res

Entries 851
Mean 1.022
Std Dev 0

2.00<p_<5.00, -0.40<y<-0.20, 0/7<[c0s(8")|<7/7, Cent(10-40)

8000

6000 -

2000

"B

ORCRC O

P

C
4@6)_@_ -O- 5

Entries 5357
Mean 1.021
Std Dev. 0

2.00<p, <5.00, -0.40<y<-0.20, 2/7<|c0S(8*)|<3/7, cent(10-40)

1000~

Yields

(Odata
= Sig+res

= res

— T T T = ~
Entries 732
Mean 1.021
Std Dev 0

1000

Yields

Odata
= sig+res
- res

— T T T -
Entries 655
Mean 1.022
Std Dev 0

eta_5_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

13600

13400

13200

13000

12800

12600

12400

Entries
Mean

0.5004
Std Dev_0.2863

7

|
i

o

0.1 02 03 04 05 06 07 08 09

PN P P P B P



2.00<p <5.00, -0.20<y<0.00, 0/7<|cos(8")|<1/7, cent(10-40)

1000

Yields

(Odata
—sig+res

='res

Entries
Mean
Std Dev

743
1.022
0

1000

Odata
=—sig+res

=res

Entries
Mean
Std Dev

665
1.022
0

1000~

Yields

(Odata
= sig+res

='res

Entries
Mean

Std Dev

954
1.02
0.004376

2.00<p <5.00, -0.20<y<0.00, 1/7<[cos(8")[<2/7, cent(10-40)

1000

(Odata
—sig+res

= res

Entries 731
Mean 1.022
Std Dev 0

1000

Odata
=sig+res

= res

Entries 701
Mean 1.021
Std Dev 0

8000+

Entries 5084
Mean 1.021
Std Dev. 0

2.00<p <5.00, -0.20<y<0.00, 2/7<|cos(8")|<3/7, cent(10-40)

1000~

Yields

647

T Entries
." Mean 1.021
Std Dev 0
(Odata =
= Sig+res ]
- res 1

1000~

Yields

eta_6_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

i i i T i i i T i i i Entries 644
Mean 1.02
Std Dev 0

Odata

= sig+res

= res

13200

13000

12800

12600

12400

12200

12000

Entries 7
Mean
Std Dev_ 0.287

0.5004

0

0.1 02 03 04 05 06 07 08 09

1



2.00<p_<5.00, 0.00<y<0.20, 0/7<|cos(8")|<1/7, cent(10-40) 2.00<p <5.00, 0.00<y<0.20, 1/7<|cos(8*)|<27, cent(10-40) 2.00<p, <5.00, 0.00<y<0.20, 2/7<|cos(®)|<3/7, cent(10-40)

o T T T T Tenties 695 L N S 629 | L B 629
10000 Mean  1.022 [ i Mean  1.022 @ Mean  1.023
Std Dev 0 1000~ [ Std Dev 0 1000~ i Std Dev 0

I |Odata 7 (Odata | [Odata T

I [=sig+res 1 | [=sig+res | | [=sigtres i

= res L |='res _ I |= res 4

Yields

| T T T T T Tenties 625 T T T T T Tenties 793 Fr T T T T T Tenties 840
¢ Mean 1.022 I D Mean 1.021 - Mean 1.021

B Std Dev 0 1000 Std Dev 0 Std Dev 0

1000k [Odata - Odata 1000 |Odata

b |=sig+res 2 E | |—sig+res [ |=—sig+res A

[ |='res 1 = res = res
[%) %] [%)
= i S r
(] () (]
= .= 500 = 500~
> > >

0 O =
0.98 098
+ - + 0,
M(K*,K) M(K*,K)
2.00<p_<5.00, 0.00<y<0.20, 0/7<|cos(8*)|<7/7, Cent(10-40) eta_7_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
T
T T T T T T T T — ] e e LN e [T T T T T —— -
Mean 102 3 Mean  1.021 13000[~ Mean  0.496
1000~ Std Dev_0.005542 3 Std Dev. 0 L Std Dev 0.2865
| |Odata ] § : T [ 7
. 12800 -1

l |=—sig+res i 6000f= % T [ — ]

- LTS 1 12600 | T 7 4
I s : :
- —=4000 r 1
Dsoof- 2 12400~ -~ B
> > N ]

r 12200~ A =0

2000 [ ]

12000 -

O == 0 - 4
. RRCLY T T P PR PRI PR PR PP I PP

0.98 1 1.02 1.04 0.98 0 01 02 03 04 05 06 07 08 09 1




1000

=500

Yields

1000

1000

Yields

2.00<p_<5.00, 0.20<y<0.40, 0/7<|cos(8")|<1/7, cent(10-40)

- |Odata
—sig+res

='res

Entries 620
Mean 1.022
Std Dev 0

Entries 591

B Mean  1.022
L Std Dev 0
Odata
| |=sig+res 1
= res
s

I |Odata
[ [=—sig+res

='res

Entries 871
Mean 1.02
Std Dev 0

2.00<p, <5.00, 0.20<y<0.40, 1/7<|cos(8*)|<27, cent(10-40)

1000~
| |Odata
| [=sigtres
I [=res

0 -

o

L5001~

>

e

55
Sy

Entries 711
Mean 1.022
Std Dev 0

1000

Odata
=sig+res
- res

Entries 886
Mean 1.021
Std Dev 0

6000

Entries 5169
Mean 1.022
Std Dev. 0

2.00<p, <5.00, 0.20<y<0.40, 2/7<|cos(®)|<3/7, cent(10-40)

1000

Yields

Entries 705

Mean 1.022
Std Dev 0

(Odata
= Sig+res

= res

1000~

i i i T i i i T i i i Entries 785
Mean 1.022
Std Dev 0

Odata T

= sig+res i

= res ]

eta_8_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

13000

12800

12600

12400

12200

12000

11800

11600

Entries 7
Mean  0.5032
Std Dev_ 0.286

0

0.1 02 03 04 05 06 07 08 09 1



1000

1000

1000

Yields

2.00<p_<5.00, 0.40<y<0.60, 0/7<|cos(8")|<1/7, cent(10-40)

Entries 764
Mean 1.021]
Std Dev 0

(Odata
| [=sig+res

='res

Entries 681
Mean 1.021]
Std Dev 0

I |Odata
=—sig+res

=res

Entries 976
r Mean 1.02
) Std Dev 0.006012
- |Odata
[ |=sig+res |
= res

2.00<p, <5.00, 0.40<y<0.60, 1/7<|cos(8*)|<27, cent(10-40)

1000

(Odata
—sig+res

= res

Entries 668
Mean 1.022
Std Dev 0

1000

Odata
=sig+res

= res

Entries 718
Mean 1.021
Std Dev 0

6000

000

Yields

2000

Entries 5393

Mean 1.021
Std Dev. 0

2.00<p <5.00, 0.40<y<0.60,

, 2/7<|cos(8%)|<3/7, cent(10-40)

1000

I |Odata
[ [=sigtres
- res

Entries 829
Mean 1.021
Std Dev 0.002818

1000

Odata
|l |=sig+tres
- res

Entries 758
Mean 1.021
Std Dev 0

12600

12400

12200

12000

11800

11600

11400

o

eta_9_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

L I I

Entries 7
Mean  0.5015
Std Dev_0.2853

I

0.1 02 03 04 05 06 07 08 09

N P B B



800

600

600

800

2.00<p_<5.00, 0.60<y<0.80, 0/7<|cos(8")|<1/7, cent(10-40)

+ -

2.00<p_<5.00, 0.60<y<0.80, 3/7<|cos(8*)|<4/7, cent(10-40)

- T T T T Tenties 504
r Mean 1.022
: O data . Std Dev . 0
[ |—sig+res 7]
F |='res 1

B i i i T i i i T i i i Entries 500
r Mean 1.022
F ¢ Std Dev 0
. [Odata 1P -
[ |=sig+res ]
I |=res ]

I |Odata
I |—sig+res
= res

Entries 695
Mean 1.021
Std Dev_0.003798

2.00<p <5.00, 0.60<y<0.80, 1/7<|cos(8*)|<27, cent(10-40)

600 —

400

Yields

200

Entries

Mean
Std Dev

531
1.022
0

(Odata
—sig+res

= res

600 —

Entries
Mean

Std Dev 0.002724

534
1.021

Odata
=sig+res

= res

4000

2.00<p <5.00, 0.60<y<0.80, 0/7<|cos(8*)|<7/7, Cent(10-40)

Entries
Mean
Std Dev.

3901
1.022
0

2.00<p, <5.00, 0.60<y<0.80, 2/7<|cos(®)|<3/7, cent(10-40)

eta_10_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte

8oof T T T T T T T T T T e nties 563
r @) Mean  1.022
r Std Dev 0
I |Odata 7
600 : —
[ [=sig+res ]
[ |= res 1
o
400}~
QL r
= |
200~
Of =
0.98
2.00<p, <5.00, 0.60<y<0.80, 5/7<|c0s(6)|<6/7, cent(10-40)
T ! LI ! ! T ! Entries 573
F Mean 1.022
- Std Dev 0
cool [Odata ]
[ [=sigtres 1
L [= res ]
400
200~
Of =
L
0.98

8800

Mean

Entries

7

0.5058

Std Dev_0.2879

8600

8400

8200

8000

7800

7600

7400

L L N TR S

7200kl b b b b Liana i Liaa 1y

0 01 02 03 04 05 06 07 08 09

N | EPPEPE I AP PEPITE APEEr EE




Yields

Yields

2.00<p_<5.00, 0.80<y<1.00, 0/7<|cos(8")|<1/7, cent(10-40)

Entries 184
Mean 1.022
Std Dev 0

150 -

(Odata
[ [=sig+res

='res

50

2.00<p <5.00, 0.80<y<1.00, 3/7<|cos(@)|<4/7, cent(10-40)

Entries 245

200_. — T T .§| T

Mean 1.024
| O data Std Dev . 0
I [=sig+res E
 |=res 1

B ! ! ! T ! ! ! ! ! ! Entries 384
[ Mean 1018
L Std D 0.008008
150 r O data ev
[ [=sig+res
100f- |~ €S
50
Ol =

o
©
®

2.00<p, <5.00, 0.80<y<1.00, 1/7<|cos(8*)|<27, cent(10-40)

150

(Odata
—sig+res
= res

Entries 143

Mean 1.026
Std Dev 0

0
o
2
> 50
0
0.98
2.00<p,<5.00, 0.80<y<1.00, 4/7<|cos(@*)|<5/7, cent(10-40)
— T La— —
150 Entries 228
r Mean 1.021
B Std Dev 0
I |Odata
100~ |==sig+res
» L
S L
2T
> 1
O
-50[~ J\ |
s
0.98 1 1.02 ~ 104
+ -
M(K",K)
2.00<p, <5.00, 0.80<y<1.00, 0/7<|cos(8")|<7/7, Cent(10-40)
1000 Entries 1779
Mean 1.021
Std Dev. 0
2]
Ss00
2
>

2.00<p, <5.00, 0.80<y<1.00, 2/7<|cos(®)|<3/7, cent(10-40)

150 T i LI i i T i Entries 229
L Mean 1.021
L Std Dev 0
[ |Odata
[ |=sig+res
100~ 9
I |= res
o
s
S F
S s
O =
0.98
o
M(K",K")
I i i i T i i i i i i Entries 365
[ Mean 102
L Std Dev 0.007854
150l [Odata
[ [=sigtres
[ [= res
v 100
E -
2 I
> 1
50
O = Q‘:
098 1 T02 To4

eta_11_pt_1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte

_....,....,....,....,....,....,....|....|TEnmas -

Mean  0.5126

1900 Std Dev_ 0.201
1800 ‘
1700 '

1600

1500

1400

0 01 02 03 04 05 06 07 08 09

N 2 T PP AP P I



Yields

Yields

Yields

2.00<p_<5.00, 1.00<y<1.20, 0/7<|cos(8")|<1/7, cent(10-40)

I R B 5

L Mean 0

L Std Dev 0
0sl- [Odata ]

[ |—sig+res ]

I |=res 1
0.6 —
0.4} -
0.2} —

[ Lo I | I Y ]

05 T O3 07
-
M(K",K)

0.8

0.6

0.4

0.2

2.00<p <5.00, 1.00<y<1.20, 3/7<|cos(@)|<4/7, cent(10-40)

S S e s =
L Mean 0
L Std Dev 0
[ [Odata ]
[ |—sig+res ]
I |=res 1
-_ e 1 P T
8 1 1.02 1.04
-
M(K",K)

2.00<p, <5.00, 1.00<y<1.20, 6/7<|cos(6")|<7/7, cent(10-40)

I————r—r——

L Entries 0

- Mean 0

- Std Dev 0
0sl [Odata ]

[ |—sigtres ]

[ |='res b
0.6~ -1
0.4 -1
0.2~ -1

L " 1 1 " | - ]

8.98 1 1.02 1.04
M(K",K")

Yields

Yields

Yields

2.00<p <5.00, 1.00<y<1.20, 1/7<|cos(8*)|<27, cent(10-40)

b o e e e LA e 5
Mean 0
Std Dev 0
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -
0.4 -
0.2~ -
L i 1 | I
93 1 02 67
-
M(K",K)
2.00<p <5.00, 1.00<y<1.20, 4/7<|cos(8*)|<5/7, cent(10-40)
B o O I S p —
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres
I |=res
0.6 -
0.4 -
0.2 -
L i 1 | I
&.98 1 1.02 1.04
P
M(K",K)
2.00<p_<5.00, 1.00<y<1.20, 0/7<|cos(8*)|<7/7, Cent(10-40)
1 T T T T T T T T T T T
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -
0.6 -
0.4 -
0.2 -
L PR WU SR N S S T | - -l
(5)98 1 1.02 1.04

Yields

Yields

2.00<p, <5.00, 1.00<y<1.20, 2/7<|cos(®")|<3/7, cent(10-40)

T
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres
I |= res
0.6 —
0.4 -
0.2 _
[ I [ N
R I— 53 07
o
M(K",K")
2.00<p, <5.00, 1.00<y<1.20, 5/7<|cos(6*)|<6/7, cent(10-40)
I———r—T
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres
r |= res
0.6 -
0.4 -
0.2 -
L Lo ] | T Y
055 1 1.02 104
.-
M(K",K)
eta_12_pt 1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
e A A e
- Mean
o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




Yields

Yields

Yields

2.00<p_<5.00, 1.20<y<1.50, 0/7<|cos(8")|<1/7, cent(10-40)

I R B = 5

L Mean 0

L Std Dev 0
0sl- [Odata ]

[ |—sig+res ]

I |=res 1
0.6 —
0.4} -
0.2} —

[ Lo I | I Y ]

05 T O3 07
-
M(K",K)

0.8

0.6

0.4

0.2

2.00<p, <5.00, 1.20<y<1.50, 3/7<|cos(@)|<4/7, cent(10-40)

S S e s =
L Mean 0
L Std Dev 0
[ [Odata ]
[ |—sig+res ]
I |=res 1
-_ e 1 P T
8 1 1.02 1.04
-
M(K",K)

2.00<p, <5.00, 1.20<y<1.50, 6/7<|cos(®)|<7/7, cent(10-40)

I————r—r——

L Entries 0

- Mean 0

- Std Dev 0
0sl [Odata ]

[ |—sigtres ]

[ |='res b
0.6~ -1
0.4 -1
0.2~ -1

L " 1 1 " | - ]

8.98 1 1.02 1.04
M(K",K")

Yields

Yields

Yields

2.00<p <5.00, 1.20<y<1.50, 1/7<|cos(8*)|<2/7, cent(10-40)

T S
Mean 0
Std Dev 0
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -1
0.4} -
0.2 —
L i 1 | I
93 1 02 67
-
M(K",K)
2.00<p <5.00, 1.20<y<1.50, 4/7<|cos(B*)|<5/7, cent(10-40)
I
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres
I |=res
0.6 —
0.4 -
0.2 —
L i 1 | I
&.98 1 1.02 1.04
P
M(K",K)
2.00<p <5.00, 1.20<y<1.50, 0/7<|cos(8*)|<7/7, Cent(10-40)
1————T——— =
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l
(998 1 1.02 1.04

Yields

Yields

2.00<p, <5.00, 1.20<y<1.50, 2/7<|cos(®)|<3/7, cent(10-40)

T
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres
I |= res
0.6 —
0.4 -
0.2 _
[ I [ N
R I— 53 07
o
M(K",K")
2.00<p, <5.00, 1.20<y<1.50, 5/7<|cos(6*)|<6/7, cent(10-40)
I————T
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres
r |= res
0.6 -
0.4 -
0.2 -
L Lo ] | T Y
055 1 1.02 104
.-
M(K",K)
eta_13 pt 1_Centrality_1_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e
- Mean
o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




Yields

Yields

Yields

1.00<p <2.00, -1.50<y<-1.20,

0/7<|cos(6*)|<1/7, cent(0-10)

I s ey B Sy e >
Mean o
Std Dev 0
0sl- [Odata ]
—sig+res ]
='res b
0.6~ -1 1)
] =)
] 2
0.4 . >
02— —
L 1 | T Y ]
0% I T2 ToT
+ -
M(K*,K)
1.00<p_<2.00, -1.50<y<-1.20, 3/7<|cos(8?)|<4/7, cent(0-10)
1 — T — T —
T T Entries 0
Mean 0
Std Dev 0
0sk [Odata .
—sig+res ]
= res 1
0.6 - »
] h=)
] 2
0.4 - >
0.2 -
| IR 1 P T
8. 8 1 1.02 1.04
+ -
M(K*,K)
1.00<p <2.00, -1.50<y<-1.20, 6/7<|c0s(8*)}<7/7, cent(0-10)
1 T T T T T T T T —
T T Entries 0
Mean 0
Std Dev 0
0sl [Odata ]
—sig+res ]
='res b
0.6 -1 1)
] =)
] 2
0.4 -1 >
0.2 -1
" 1 1 " | - ]
8.98 1 1.02 1.04
+ -
M(K*,K)

1.00<p <2.00, -1.50<y<-1.20,

1/7<|cos(8*)|<2/7, cent(0-10)

T T S
L Mean 0
o Std Dev 0
0sl- [Odata ]
[ |=sig+res 1
[ |='res b
0.6 -1
0.4} -
0.2 —
L i 1 | I ]
93 1 02 67
-
M(K",K)
1.00<p,<2.00, -1.50<y<-1.20, 4/7<Icos(8")<5/7, cent(0-10)
I — :
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres 1
I |=res 1
0.6 —
0.4 -
0.2 —
L i 1 | I ]
&.98 1 1.02 1.04
P
M(K",K)
1.00<p_<2.00, -150<y<-1.20, 0/7<cos(8")|<7/7, Cent(0-10)
1 T T T T T T T T T T T ——
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l ]
(998 1 1.02 1.04

Yields

Yields

1.00<p, <2.00, -1.50<y<-1.20,

2/7<|cos(6)|<3/7.

, cent(0-10)

. A B A L -
L Mean
o Std Dev
0gl |[Odata ]
[ [=sigtres ]
[ |= res ]
0.6~ —
0.4 —
0.2p— -
[ L ] | I R i
3 T 07 ToT
-
M(K",K)
1.00<p, <2.00, -1.50<y<-1.20, 5/7<[cos(8*)|<6/7, cent(0-10)
A B A L e
o Mean
L Std Dev
0sl |Odata ]
[ [—sig+res ]
I |= res 1
0.6 —
0.4 —
0.2~ —
L L 1 | I Y i
(9 8 1 1.02 1.04
+ -
M(K",K)

eta_0_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

0.8~

0.6~

0.4

0.2

%

INEFL TR FENR FEERN EFRY U FERTLFRETE FRUTN TRRRS reny

0.1 02 03 04 05 06 07 08 09

Entries
Mean
Std Dev




Yields

Yields

Yields

1.00<p, <2.00, -1.20<y<-1.00,

0/7<|cos(6*)|<1/7, cent(0-10)

I s ey B Sy e >
Mean o
Std Dev 0
0sl- [Odata ]
—sig+res ]
='res b
0.6~ -1 1)
] =)
] 2
0.4 . >
02— —
L 1 | T Y ]
0% I T2 ToT
+ -
M(K*,K)
1.00<p <2.00, -1.20<y<-1.00, 3/7<|cos(8?)|<4/7, cent(0-10)
1 — T — T —
T T Entries 0
Mean 0
Std Dev 0
0sk [Odata .
—sig+res ]
= res 1
0.6 - »
] h=)
] 2
0.4 - >
0.2 -
| IR 1 P T
8. 8 1 1.02 1.04
+ -
M(K*,K)
1.00<p <2.00, -1.20<y<-1.00, 6/7<|c0s(8*)}<7/7, cent(0-10)
1 T T T T T T T T —
T T Entries 0
Mean 0
Std Dev 0
0sl [Odata ]
—sig+res ]
='res b
0.6 -1 1)
] =)
] 2
0.4 -1 >
0.2 -1
" 1 1 " | - ]
8.98 1 1.02 1.04
+ -
M(K*,K)

1.00<p <2.00, -1.20<y<-1.00,

1/7<|cos(8*)|<2/7, cent(0-10)

T T S
L Mean 0
o Std Dev 0
0sl- [Odata ]
[ |=sig+res 1
[ |='res b
0.6 -1
0.4} -
0.2 —
L i 1 | I ]
93 1 02 67
-
M(K",K)
1.00<p_<2.00, -1.20<y<-1.00, 4/7<Icos(8")<5/7, cent(0-10)
I — :
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres 1
I |=res 1
0.6 —
0.4 -
0.2 —
L i 1 | I ]
&.98 1 1.02 1.04
P
M(K",K)
1.00<p_<2.00, -1.20<y<-1.00, 0/7<cos(8")|<7/7, Cent(0-10)
1 T T T T T T T T T T T ——
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l ]
(998 1 1.02 1.04

Yields

Yields

1.00<p <200, -1.20<y<-1.00,

2/7<|cos(6)|<3/7.

, cent(0-10)

. A B A L -
L Mean
o Std Dev
0gl |[Odata ]
[ [=sigtres ]
[ |= res ]
0.6~ —
0.4 —
0.2p— -
[ L ] | I R i
3 T 07 ToT
-
M(K",K)
1.00<p, <2.00, -1.20<y<-1.00, 5/7<[cos(8*)|<6/7, cent(0-10)
A B A L e
o Mean
L Std Dev
0sl |Odata ]
[ [—sig+res ]
I |= res 1
0.6 —
0.4 —
0.2~ —
L L 1 | I Y i
(9 8 1 1.02 1.04
+ -
M(K",K)

eta_1_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

0.8~

0.6~

0.4

0.2

%

INEFL TR FENR FEERN EFRY U FERTLFRETE FRUTN TRRRS reny

0.1 02 03 04 05 06 07 08 09

Entries
Mean
Std Dev




1.00<p, <2.00, -1.00<y<-0.80, 0/7<[cos(8")|<1/7, cent(0-10)

Yields

1.00<p, <2.00, -1.00<y<-0.80, 6/7<|cos(8")|<7/7, cent(0-10)

L T T T Tenties 354
Mean 1.021]
- Std Dev 0
Odata
—sig+res
='res
O
1 1.02 1.04
+ -
M(K",K)
1.00<p_<2.00, -1.00<y<-0.80, 3/7<|cos(8")|<4/7, cent(0-10)
L T T T Tenties 471
Mean 1.035
Std Dev 0
Odata ]
|- [=sig+res -
= res 1
- ? -
P Al J\I PR T R TR SR T R
8 1 1.02 1.04
+ -
M(K",K)

Yields

! ! ! T ! ! ! ! ! ! Entries 269
Mean 1.016
Std Dev  0.01151

Odata

= sig+res

= res

Yields

1.00<p_<2.00, -1.00<y<-0.80, 1/7<|cos(6*)|<2/7, cent(0-10;
T

(Odata
—sig+res

= res

Std Dev 0.003731

Entries 518
Mean 1.017

1.00<p_<2.00, -1.00<y<-0.80, 4/7<Icos(8")<5/7, cent(0-10)

I |Odata
=sig+res
b |=res

Entries 475
Mean 1.028
Std Dev 0

Entries 2480
Mean 1.021
Std Dev_0.001593

Yields

150

100

Yields

1800

2200 Entries 7
L Mean  0.5257
L Std Dev_0.285
2000 _‘_ 7
1600 l _‘|._ | | ‘ -
1400~ | | ‘ i
SEETI RNETI FEETI FRETI FRRTE FRRTE SRRTE ARAT] FNNTE FRUT.

1.00<p, <2.00, -1.00<y<-0.80, 2/7<[cos(8")|<3/7, cent(0-10)

L T ! L ! ! T ! Entries 218
Mean 1.027
i Std Dev 0
L |Odata ]
I [=sigtres 1
100 |m res
Ofe =
raoatll (ID PR R T S T N
0.98 1 1.02 1.04
PR
M(K*,K)
1.00<p <2.00, -1.00<y<-0.80, 5/7<|cos(8?)|<6/7, cent(0-10)
I ! ! ! T ! ! ! ! ! Entries 175
B Mean 1.02
B Std Dev 001018
[ [Odata ]
[ [=sigtres ]
- |= res -
50—
Ofe = ----
0.9-8 * 17 1.02 E— 1.04
-
M(K*,K)

0 01 02 03 04 05 06 07 08 09 1



1.00<p, <2.00, -0.80<y<-0.60, 0/7<[cos(8")|<1/7, cent(0-10) 1.00<p_<2.00, -0.80<y<-0.60, 1/7<|c0s(6")[<2/7, cent(0-10) 1.00<p <2.00, -0.80<y<-0.60, 2/7<|cos(8)|<3/7, cent(0-10)

[~~~ T T T T T T Tenmies 330 [~~~ T T T T T T Tenvies 386 [~~~ T T T T [enwes 476
3000 Mean 1.029 - . Mean 1.028 3000~ Mean 1.025
L Std Dev 0 3000 SdDev 0 L q SidDev 0
| [Odata T I [Odata 7 | [Odata T
[ |—sig+res ] [ |—sig+res ] [ |—sig+res 1
20001 (= res ] 2000l [ Tes 2000(~ |= res B
%) %) [%)
o o i)
2 2 2
> > >
1000 1000 1000
&P
0
0.98 o1 TO02 104 0.98
-
M(K™,K)
I i i i T i i i T i i i Entries 598 B i i i T i i i T i i i Entries 537 : i i i T i i i T i i i Entries 566
3000 Mean  1.025 3000 Mean  1.025 [ Mean 1023
I Std Dev 0 I Std Dev 0 - Std Dev 0
I |Odata 7 I |Odata 3000 1~ data T
[ |—sig+res ] L |—sig+res [ |—sig+res 1
2000~
2000 |- res - res |- res
L 2000)
[%) n |} [%)
o o} o
2 Q2 2
>'1000 >'1000 = >
L 1000
- O -
0 Of = = = g b
0. 098 & 1 1.02 104
+ - + 4,
M(K",K") M(K",K)
1.00<p_<2.00, -0.80<y<-0.60, 6/7<|cos(8*)|<7/7, cent(0-10) eta_3_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
+
T T —— T T T e SRR LA R LAt Mk Mok skt o e -
r Mean 1.019 B Mean 1.024 r Mean  0.5073
r X Std Dev 0.004042 20000} Std Dev 0 380001~ Std Dev 0.2876
I |Odata [ p——
3000~ ) - t ]
I [=slgtres 1 37000 | | ]
L |=res r ! ]
w0 - - = -
Booof- ] 36000 -
o [ 000 [ ]
> | > [ ]
3 35000 @ —Ci——e 3
1000} [ | | | | | ]
i o 34000 = T —— =
O = &) T 0 N | | | 1
L 83000 )bl e 1
0.98 i 1 1.02 1.04 0.98 0 01 02 03 04 05 06 07 08 09 1




1.00<p, <2.00, -0.60<y<-0.40, 0/7<[cos(8")|<1/7, cent(0-10)

6000

Yieldgs

2000

(Odata
—sig+res

='res

Entries
Mean
Std Dev

1.027
0

883

8000

6000~

Yielgs

2000

Odata
=—sig+res

=res

Entries
Mean
Std Dev

1191
1.024
0

8000

6000~

Yiglds

2000

(Odata
= sig+res
= res

Entries 1831
Mean 1.022
Std Dev 0

1.00<p_<2.00, -0.60<y<-0.40, 1/7<|cos(6*)|<2/7, cent(0-10;
T

gooof- T T T T
I |Odata
8000 |_sig+res
[ [=res

[2)
31000
o
>_

Entries
Mean
Std Dev

1115
1.024
0

8000F T T T
I |Odata
6000 .
[ [—sig+res
[ |=res

Entries
Mean
Std Dev

1108
1.025
0

40000

nYields

Entries
Mean 1.024
Std Dev. 0

1.00<p <2.00, -0.60<y<-0.40, 2/7<|cos(8)|<3/7, cent(0-10)

8000

6000

(Odata
= Sig+res

= res

Entries
Mean
Std Dev

997
1.025
0

8000

Odata
= sig+res
- res

Entries 1636
Mean 1.022
Std Dev 0

eta_4_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

88000

87000

86000

85000

84000

83000

82000

LA

Entries
Mean

Std Dev_ 0.286

7
0.5029

0

0.1 02 03 04 05 06 07 08 09

1



000

Yields

%5000

Yiel

1.00<p, <2.00, -0.40<y<-0.20, 0/7<[cos(8")|<1/7, cent(0-10)

(Odata
—sig+res

='res

Odata
=—sig+res
- res

(Odata
= sig+res
= res

000

Yieldg

000

Yields,

60000

40000

Yields

20000

1.00<p_<2.00, -0.40<y<-0.20, 1/7<|cos(6*)|<2/7, cent(0-10;
T

(Odata
—sig+res

= res

Odata
=sig+res

= res

D000,

Yiel

103

102]

101

100

99

98

97

1.00<p <2.00, -0.40<y<-0.20, 2/7<|cos(8)|<3/7, cent(0-10)

Entries 1298

(Odata
= Sig+res

= res

Std Dev 0

1.025

eta_5_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

Entries 1325

Odata
= sig+res

= res

Std Dev 0

1.024

X -
T T O T T T

Entries 7

Std Dev 0.2852

0.5008

0

0.1 02 03 04 05 06 07 08 09

[N



Yiel(iés

8000

8000

6000

Yiéelds

2000

1.00<p, <2.00, -0.20<y<0.00, 0/7<cos(8*)[<1/7, cent(0-10)

(Odata
—sig+res

='res

Entries
Mean 1.025
Std Dev 0

1201

Odata
=—sig+res
- res

1.00<p_<2.00, -0.20<y<0.00, 6/7<|cos(8")|<7/7, cent(0-10)

(Odata
= sig+res
= res

Entries 871
Mean 1.025
Std Dev 0
Entries 1837
Mean 1.022
Std Dev 0

1.00<p <2.00, -0.20<y<0.00, 1/7<[cos(8*)[<2/7, cent(0-10)

(Odata
—sig+res

= res

Entries
Mean
Std Dev

1017
1.024
0

I |Odata
I [=sig+res

I |=res

Entries
Mean
Std Dev

1317
1.023
0

60000

40000

n Yields

000

Entries
Mean
Std Dev.

8346
1.024
0

1.00<p_<2.00, -0.20<y<0.00, 2/7<|cos(8*)|<3/7, cent(0-10}
T

8000

6000

(Odata
= Sig+res
- res

Entries
Mean
Std Dev

913
1.026
0

5000

Yields,

Odata
= sig+res

= res

Entries
Mean
Std Dev

1190
1.024
0

eta_6_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

97000

96000

95000

94000

93000

92000

91000

90000

89000

Entries
Mean
Std Dev

7
0.4979
0.2845

0

0.1 02 03 04 05 06 07 08 09

iN



8000

6000

Yieéds

2000

8000

6000

Yielgs

2000

8000

6000

Yi%Ids

2000

1.00<p <2.00, 0.00<y<0.20, 0/7<|cos(B4|<1/7, cent(0-10)

I |Odata
| [=sig+res

='res

Entries

Mean
Std Dev

1.025
0

1027

Odata
- [=sig+res

=res

Entries
Mean
Std Dev

1017
1.024
0

(Odata
= sig+res

r |='res

Entries 1589
Mean 1.022
Std Dev 0

8000

6000

8000

6000

60000

1.00<p_ <2.00, 0.00<y<0.20

, 1/7<|cos(68*)|<2/7, cent(0-10)

I |Odata
I [=sig+tres

= res

Entries 839
Mean 1.026
Std Dev 0

I |Odata
=sig+res

[ |='res

Entries 890
Mean 1.025
Std Dev 0

1.00<p_<2.00, 0.00<y<0.20, 0/7<|cos(8*)|<7/7, Cent(0-10)

40000

nYields

000

7653

Entries
Mean 1.024
Std Dev. 0

1.00<p <2.00, 0.00<y<0.20, 2/7<|cos(@|<3/7, cent(0-10)

8000|—

L B N [ TF] |
Mean 1.024

Odata Std Dev- 0

= Sig+res ]

= res 1

8000

6000

T T T T T Tenies 1078
Mean 1.024
Std Dev 0

Odata ]

= sig+res B

= res i

eta_7_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

92000

91000

90000

89000

88000

87000

Entries
Mean

7
0.499
Std Dev 0.2854

0

0.1 02 03 04 05 06 07 08 09

iN



1.00<p <2.00, 0.20<y<0.40, 0/7<|cos(B4|<1/7, cent(0-10)

8000

6000~

Yieléjs

2000

(Odata
—sig+res

='res

Entries
Mean
Std Dev

914
1.026
0

8000

6000~

Yiejsds

2000

Odata
=—sig+res

=res

Entries 1068
Mean 1.024
Std Dev 0

8000
6000~
(2]
©
61000

2000

(Odata
= sig+res
= res

Entries 1531
Mean 1.022
Std Dev 0

1.00<p, <2.00, 0.20<y<0.40, 1/7<|cos(®*)|<2/7, cent(0-10)

Entries
Mean
Std Dev

960
1.025
0

8000
I |Odata
soool- |—Sig+res
[ [=res
[%2]
°
31000
&
2000
0
0.98
gooof © T T T
L |Odata
80001 | sig+res
I [=res

Entries
Mean
Std Dev

1095
1.024
0

60000F T

40000

nYields

000

7911

Entries
Mean 1.024
Std Dev. 0

1.00<p <2.00, 0.20<y<0.40, 2/7<|cos(|<3/7, cent(0-10)

8000

1171

Entries

Mean 1.025
Odata Std Dev . 0
= Ssig+res h
= res T

8000

6000~

T T T T T Tenes 1172
Mean 1.024
Std Dev 0

Odata

= sig+res E

- res |

eta_8_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

94000

93000

92000

91000

90000

89000

88000

Mean
Std De

Entries 7

0.4974
v_0.2861

0

0.1 02 03 04 05 06 07 08 09

[iN A



1.00<p <2.00, 0.40<y<0.60, 0/7<|cos(B4|<1/7, cent(0-10)

[~ T T T Entries 1030
Mean 1.025
I Std Dev 0
6000~ |Odata -
[ |=sig+res ]
I [=res 1
000
i
2
=

2000

1.00<pr<2.00‘ 0.40<y<0.60, 3/7<|cos(8*)|<4/7, cent(0-10)

[ 7 7 ! LI T Entries 818

L Q@ Mean  1.026

L Std Dev 0
sooo|- |Odata ]
[ [=sig+res 1
= res J

000

Yields

2000

gooof- T T T T T T T T T T T e ies 1784
r Mean 1.022
: Odata Std Dev . 0
6000 |—sig+res ]
: ='res :

Yielsds

2000

1.00<p, <2.00, 0.40<y<0.60, 1/7<|cos(®")|<2/7, cent(0-10)

6000 -

000

Yields

2000

(Odata
—sig+res

= res

Entries

Mean 1.

Std Dev

785
025
0

6000

Odata
=sig+res

= res

Entries 1168
Mean 1.024
Std Dev 0

1.00<p <2.00, 0.40<y<0.60, 2/7<|cos(@|<3/7, cent(0-10)

| L S 940
| Mean 1.025
Std Dev 0
6000~ Odata
| |=sig+res
[ |= res b
000
T
2
>

2000

T ! LI ! ! T ! Entries 988
[ Mean 1023
I Std Dev 0
so00}- |Odata =
[ [=sigtres i
L |= res J
Y4000~
S 1
2
=
2000}~
O

(A
LOPNT ©S2
\ SR

eta_9_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

40000

Yields

000

7513

Entries
Mean 1.024
Std Dev. 0

82000

81000

80000

79000

78000

77000

76000

75000

74000

Entries 7
Mean  0.5056
Std Dev 0.2852

0 01 02 03 04 05 06 07 08 09 1



1.00<p <2.00, 0.60<y<0.80, 0/7<|cos(B4|<1/7, cent(0-10)

3000

2000

(Odata
—sig+res
= res

Entries 274
Mean 1.029
Std Dev 0

(%]
i
2
>1000
0
0.98
1.00<p, <2.00, 0.60<y<0.80, 3/7<|cos(6*)|<4/7, cent(0-10)
—— — .
Entries 501
[ Mean  1.024
3000~ Std Dev 0
I |Odata
I [=sig+res E
2000 |= 'T€S —
o F
E L
2 r
>_ -
1000~
-8
L 1
0.98
1.00<p_<2.00,0.60<y<0.80, 6/7<|cos(8*)|<7/7, cent(0-10)
—— 7
| Entries 1021
- Mean 1.02
L d t “ Std Dev 0.004156
3000 Odata —
[ |—sig+res ]
[ |='res 1
Booo
gz
>_
1000
0

1.00<p, <2.00, 0.60<y<0.80, 1/7<|cos(®")|<2/7, cent(0-10)

2000

(Odata
—sig+res

= res

Entries
Mean
Std Dev

412
1.026
0

3000

Odata
=sig+res
- res

Entries
Mean

Std Dev

561
1.024
0

1.00<p_<2.00, 0.60<y<0.80, 0/7<|cos(8")|<7/7, Cent(0-10)

20000~

-@OOO-@--

Q5

Entries
Mean
Std Dev.

3817
1.024

1.00<p <2.00, 0.60<y<0.80, 2/7<|cos(@|<3/7, cent(0-10)

269

L Entries
L Mean 1.028
| Std Dev 0
(Odata
2000 |==Ssig+res -
= res
[%2]
o
©
'>__,1000
0
0.98
| T T T T T Tentes 778
i Q Mean  1.022
- Std Dev 0
3000_ Odata .
[ [=sigtres ]
b |= res E
7000
o
2
>-
1000
0
0.
eta_10_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte
R Lt L Mot Lt L L e -
36000~ Medn 05112
: | Std Dev 0.2849
35000 | —|—_'|_ | N
34000k | ]
33000 | | .
32000}_1_ | | 3
31000k | ]
T IFTTE FETTY YT FETTE FETTY PUTE FUTT AT AT
0 01 02 03 04 05 06 07 08 09 1



1.00<p, <2.00, 0.80<y<1.00, 0/7<|cos(6*)|<L/7, cent(0-10)

[T i i T i i i i i Entries 200
150~ Mean  1.021]
Std Dev 0
[ [Odata
I
100l |—Sig+res
[ |='res
[7)] -
S |
S sof
> [
O =
_so
058 O T02 T04
o
M(K",K)
1.00<p, <2.00, 0.80<y<1.00, 3/7<|cos(8*)|<4/7, cent(0-10)
FoT ! ! T ! ! ! ! ! Entries 137
1501~ Mean  1.026
L Std Dev 0
[ [Odata
100}~ |==Ssig+res
F |=res
s |
E 50_— ¢
= |
_so
[ . 1
0.98 1T 102 1.04
+
M(K",K)
1.00<p_<2.00, 0.80<y<1.00, 6/7<|cos(8*)|<7/7, cent(0-10)
:" T T T T Tenwies 129
- Mean 1.018
I Std Dev 0.008815
150~ [Odata
[ [—sig+res
100~ = res
wn -
S
2 T
> sl ¢
Ofpw =
0.98

1.00<p_ <2.00, 0.80<y<1.00, 1/7<|cos(®*)|<2/7, cent(0-10)

200

100~

Yields

! T T T ! T ! " Tenties 606
Mean 1.026
Std Dev 0
(Odata I
—sig+res

= res

Al
’:“'iulf
Hl_“i hikp

¢

200

Entries 224
Mean 1.02
Std Dev 0.005006

Odata
=sig+res

= res

1.00<p_<2.00, 0.80<y<1.00, 0/7<|cos(8")|<7/7, Cent(0-10)

1000~

T Entries 1517
Mean 1.021
Std Dev_0.002237

1.00<p <2.00, 0.80<y<1.00, 2/7<|cos(B|<3/7, cent(0-10)

L L LR R e
1501= Mean 1025
| Std Dev 0
[ |Odata
b sigs
100k |—Sig+res
%) L
s |
QO 5o~
s}
O =
_50b

0.98

i i i T i i i i i i Entries 154
200~ Mean 1.017
- Std Dev 0.009148
Odata
= sig+res
| |= res ]
% 100~
o |
>- -
o] =
1
0.98 =

eta_11_pt_0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte

Entries 7

: Mean 0.5461
2000 Std Dey 0.2808
1800 | | | —
1600 | -1
1400 _‘I _ I b
1200;I_ | —‘I‘— | -
e FYTYTTITT PRTT TRV FOUNE TV FAPPT TOPT FOPT POP

0O 01 02 03 04 05 06 07 08 09 1




Yields

Yields

Yields

1.00<p, <2.00, 1.00<y<1.20, 0/7<|cos(6*)|<L/7, cent(0-10)

)

I R B e
L Mean
o Std Dev
0sl- [Odata ]
[ [=sig+res
[ |=res
0.6 -
0.4} -
0.2~ —
[ L 1 | T Y
855 T T2 To3
-
M(K",K)
1.00<p, <2.00, 1.00<y<1.20, 3/7<|cos(8*)|<4/7, cent(0-10)
I R B T
o Mean
o Std Dev
0sk [Odata .
[ |—sig+res
I |=res
0.6 —
0.4f -
0.2 —
-_ e 1 Lottt bt
8. 8 1 1.02 1.04
+ -
M(K",K)
1.00<p_<2.00, 1.00<y<1.20, 6/7<|cos(6*)|<7/7, cent(0-10)
1 [ T T T T T T T T T T T v
o Mean
- Std Dev
0sl [Odata ]
[ |—sigtres
[ |=res
0.6 -
0.4 -
0.2~ -
L " I 1 " | -
8.98 1 1.02 1.04
-
M(K",K)

Yields

Yields

Yields

1.00<p_<2.00, 1.00<y<1.20, 1/7<|cos(8*)|<2/7, cent(0-10)

T T S
L Mean 0
o Std Dev 0
0sl- [Odata ]
[ |=sig+res 1
[ |='res b
0.6 -1
0.4} -
0.2 —
L i 1 | I ]
93 1 02 67
-
M(K",K)
1.00<p_<2.00, 1.00<y<1.20, 4/7<|cos(8*)I<5/7, cent(0-10)
I
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres 1
I |=res 1
0.6 —
0.4 -
0.2 —
L i 1 | I ]
&.98 1 1.02 1.04
P
M(K",K)
1.00<p_<2.00, 1.00<y<1.20, 0/7<|cos(8")|<7/7, Cent(0-10)
1 T T T T T T T T T T T
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l ]
(998 1 1.02 1.04

Yields

Yields

1.00<p <2.00, 1.00<y<1.20, 2/7<|cos(@|<3/7, cent(0-10)

7 —
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres ]
I |= res 1
0.6 —
0.4 -
0.2 _
[ I [ B
R I— 53 07
o
M(K",K")
1.00<p, <2.00, 1.00<y<1.20, 5/7<|cos(8")|<6/7, cent(0-10)
I———T
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres ]
r |= res 1
0.6 -
0.4 -
0.2 -
L Lo ] | T Y ]
055 1 1.02 104
.-
M(K",K)
eta_12_pt 0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e
- Mean
o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

1.00<p, <2.00, 1.20<y<L50, 0/7<[cos(6*)|<L/7, cent(0-10)

)

I R B =
L Mean
o Std Dev
0sl- [Odata ]
[ [=sig+res
[ |=res
0.6 -
0.4} -
0.2~ —
[ L 1 | T Y
855 T T2 To3
-
M(K",K)
1.00<p, <2.00, 1.20<y<1.50, 3/7<|cos(8*)|<4/7, cent(0-10)
I R B T
o Mean
o Std Dev
0sk [Odata .
[ |—sig+res
I |=res
0.6 —
0.4f -
0.2 —
-_ e 1 Lottt bt
8. 8 1 1.02 1.04
+ -
M(K",K)
1.00<p_<2.00, 1.20<y<1.50, 6/7<|cos(6*)|<7/7, cent(0-10)
1 [ T T T T T T T T T T T v
o Mean
- Std Dev
0sl [Odata ]
[ |—sigtres
[ |=res
0.6 -
0.4 -
0.2~ -
L " I 1 " | -
8.98 1 1.02 1.04
-
M(K",K)

Yields

Yields

Yields

1.00<p_<2.00, 1.20<y<1.50, 1/7<|cos(8*)|<2/7, cent(0-10)

T T S
L Mean 0
o Std Dev 0
0sl- [Odata ]
[ |=sig+res 1
[ |='res b
0.6 -1
0.4} -
0.2 —
L i 1 | I ]
93 1 02 67
-
M(K",K)
1.00<p,<2.00, 1.20<y<1.50, 4/7<|cos(8*)I<5/7, cent(0-10)
I
L Entries 0
- Mean 0
- Std Dev 0
0sk [Odata -
[ [=sig+tres 1
I |=res 1
0.6 —
0.4 -
0.2 —
L i 1 | I ]
&.98 1 1.02 1.04
P
M(K",K)
1.00<p_<2.00, 1.20<y<1.50, 0/7<|cos(8")|<7/7, Cent(0-10)
1————T——— =
L Entries 0
- Mean 0
- Std Dev. 0
0.8 -1
0.6 -1
0.4 -
0.2~ -1
L PR WU SR N S S T | - -l ]
(998 1 1.02 1.04

Yields

Yields

1.00<p <2.00, 1.20<y<1.50, 2/7<|cos(@|<3/7, cent(0-10)

7| —
: Mean
L Std Dev
0gl |[Odata ]
[ [=sigtres ]
I |= res 1
0.6 —
0.4 -
0.2 _
[ I [ B
R I— 53 07
o
M(K",K")
1.00<p, <2.00, 1.20<y<1.50, 5/7<|cos(8")|<6/7, cent(0-10)
I———r—T
L Entries
L Mean
L Std Dev
0sl |Odata ]
[ [=sigtres ]
r |= res 1
0.6 -
0.4 -
0.2 -
L Lo ] | T Y ]
055 1 1.02 104
.-
M(K",K)
eta_13_pt 0_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
A A A e
- Mean
o Std Dev
0.8 —
0.6 _
0.4 —
0.2 —

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09 1



Yields

Yields

Yields

2.00<p <5.00, -1.50<y<-1.20, 0/7<[cos(8)|</7, cent(0-10)

A B R s s 5
L Mean 0
L Std Dev 0
0sl- [Odata ]
[ [=sig+res
I |=res
0.6~ E
0.4 .
0.2 -
[ Lo I | I Y
05 T O3 07
o
M(K",K)
2,00<p, <5.00, -1.50<y<-1.20, 3/7<|cos(®")}<4/7, cent(0-10)
| T T Entries 0
L Mean 0
L Std Dev 0
0sk [Odata .
[ |—sig+res
r |=res
0.6f- —
0.4f- —
0.2f- —
-_ e 1 Lottt bt
05 1 102 104
.-
M(K",K)
2.00<p_<5.00, -1.50<y<-1.20, 6/7<|cos(8")|<7/7, cent(0-10)
1 T T T T T T T T —— ——
L T T Entries 0
L Mean 0
- Std Dev. 0
0sl [Odata ]
[ |—sigtres
I |=res
0.6 E
0.4f E
0.2 E
L Lo I | I Y
8.98 1 1.02 1.04

M(K",K")

Yields

Yields

Yields

2,00<p, <5.00, -1.50<y<-1.20, 1/7<|cos(8")|<2/7, cent(0-10)

L Mean
o Std Dev
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -1
0.4} -
0.2 —
L i 1 | I
93 1 02 67
-
MK K)
2.00<p, <5.00, -1.50<y<-1.20, 4/7<coS(B*)I<5/7, cent(0-10)
I —
L Entries
- Mean
- Std Dev
0sk [Odata -
[ [=sig+tres
I |=res
0.6 —
0.4 -
0.2 —
L i 1 | I
&98 1 1.02 1.04
P
MK K
2.00<p_<5.00, -1.50<y<-1.20, 0/7<cos(8")|<7/7, Cent(0-10)
77T
L Entries
- Mean
- Std Dev.
0.8 -1
0.6 -1
0.4 -1
0.2~ -1
L PR WU SR N S S T | - -l
(?98 1 1.02 1.04

Yields

Yields

2.00<p <5.00, -1.50<y<-1.20, 2/7<]cos(8)|<3/7, cent(0-10)

| R B
: Mean
I Std Dev
0gl |[Odata :
[ [=sigtres
I |= res
0.6~ ]
0.4— N
0.2- N
! ] TIPS T
o= 1 1.02 TO07
+ -
M(K™,K')
2.00<pT<5.00‘ -1.50<y<-1.20, 5/7<|cos(6*)|<6/7, cent(0-10)
I————7r—7 B s 5
I Entries
I Mean
[ Std Dev
0gl |[Odata .
[ [=sigtres
I |= res
0.6~ N
0.4 N
0.2~ N
- 1 TP T
dss 1 T02 T
+ -

M(K",K)
eta_0_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
l_....|....|....|....|....|....|....|....|. —

[ Mean

[ Std Dev
0.8~ ]
0.6~ ]
0.4 ]
0.2 ]

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




Yields

Yields

Yields

2.00<p <5.00, -1.20<y<-1.00, 0/7<[cos(8)|</7, cent(0-10)

A B R s s 5
L Mean 0
L Std Dev 0
0sl- [Odata ]
[ [=sig+res
I |=res
0.6~ E
0.4 .
0.2 -
[ Lo I | I Y
05 T O3 07
o
M(K",K)
2,00<p, <5.00, -1.20<y<-1.00, 3/7<|cos(®")}<4/7, cent(0-10)
| T T Entries 0
L Mean 0
L Std Dev 0
0sk [Odata .
[ |—sig+res
r |=res
0.6f- —
0.4f- —
0.2f- —
-_ e 1 Lottt bt
05 1 102 104
.-
M(K",K)
2.00<p_<5.00, -1.20<y<-1.00, 6/7<|cos(8")|<7/7, cent(0-10)
1 T T T T T T T T —— ——
L T T Entries 0
L Mean 0
- Std Dev. 0
0sl [Odata ]
[ |—sigtres
I |=res
0.6 E
0.4f E
0.2 E
L Lo I | I Y
8.98 1 1.02 1.04

M(K",K")

Yields

Yields

Yields

2,00<p, <5.00, -1.20<y<-1.00, 1/7<|cos(8")|<2/7, cent(0-10)

L Mean
o Std Dev
0sl- [Odata ]
[ |=sig+res
[ |='res
0.6 -1
0.4} -
0.2 —
L i 1 | I
93 1 02 67
-
MK K)
2.00<p, <5.00, -1.20<y<-1.00, 4/7<coS(B*)I<5/7, cent(0-10)
I —
L Entries
- Mean
- Std Dev
0sk [Odata -
[ [=sig+tres
I |=res
0.6 —
0.4 -
0.2 —
L i 1 | I
&98 1 1.02 1.04
P
MK K
2.00<p_<5.00, -1.20<y<-1.00, 0/7<cos(8")|<7/7, Cent(0-10)
77T
L Entries
- Mean
- Std Dev.
0.8 -1
0.6 -1
0.4 -1
0.2~ -1
L PR WU SR N S S T | - -l
(?98 1 1.02 1.04

Yields

Yields

2.00<p <5.00, -1.20<y<-1.00, 2/7<]cos(8)|<3/7, cent(0-10)

| R B
: Mean
I Std Dev
0gl |[Odata :
[ [=sigtres
I |= res
0.6~ ]
0.4— N
0.2- N
! ] TIPS T
o= 1 1.02 TO07
+ -
M(K™,K')
2.00<pT<5.00‘ -1.20<y<-1.00, 5/7<|cos(6*)|<6/7, cent(0-10)
I————7r—7 B s 5
I Entries
I Mean
[ Std Dev
0gl |[Odata .
[ [=sigtres
I |= res
0.6~ N
0.4 N
0.2~ N
- 1 TP T
dss 1 T02 T
+ -

M(K",K)
eta_1_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_Inte
l_....|....|....|....|....|....|....|....|. —

[ Mean

[ Std Dev
0.8~ ]
0.6~ ]
0.4 ]
0.2 ]

(bu.u.l b L deren by g Lo Lo o Ll

0.1 02 03 04 05 06 07 08 09




Yields

Yields

Yields

2.00<p <5.00, -1.00<y<-0.80, 0/7<[cos(8)|</7, cent(0-10)

T T T T T T T T T ‘“ —
Entries 326
100~ Mean  1.027
Std Dev 0
Odata .
—sig+res ]
sol [=res
O =
_50 1
0.98 T T02 30z
P
M(K",K)
2.00<p_<5.00, -1.00<y<-0.80, 3/7<|c0s(8*)|<4/7, cent(0-10)
150 ! ! T ! ! ! ! ! Entries 197
Mean 1.029
Std Dev 0
Odata
100- |==sig+res
= res
50
Of = (=)m
i
L
0.98
2.00<p, <5.00, -1.00<y<-0.80, 6/7<|cos(8)}<7/7, cent(0-10)
T T T T T T T T T =
150 - Entries 152
Mean 1.018
Std Dev 0.009459
Odata ]
= sig+res 1
100~ —

150

100

Yields

————r —
| Entries 611
100 Mean 1.018
Std Dev 0
I |Odata
| |=—sigtres
F |= res
v 50
=
2
> |
Ol =
[ ./J\
0.98 1 1.02 104
+
M(K",K)
2.00<p_<5.00, -1.00<y<-0.80, 0/7<cos(8")|<7/7, Cent(0-10)
— T T T — _
r Entries 2126
r Mean 1.022
r Std Dev. 0
600 - -
U400
=)
2
>
200
0
0.98

2.00<p, <5.00, -1.00<y<-0.80, 1/7<|cos(8")|<2/7, cent(0-10)

Entries 342
Mean 1.026
Std Dev 0

Odata (% ]

- [=sigtres -

= res

2.00<p, <5.00, -1.00<y<-0.80, 2/7<|cos(8)|<3/7, cent(0-10)

woFET—— T 1 T RS 234
r Mean 1.019
- Std Dev 0.006025
Odata
| [=sig+tres
50
[%2]
i)
2
>_
o [|
0.98 1 1.02 1.04
-
M(K",K")
2.00<p_<5.00, -1.00<y<-0.80, 5/7<|c0s(8*)|<6/7, cent(0-10)
! ! ! T ! ! ! ! ! ! Entries 265
[ Mean  1.023
100~ Std Dev 0
| [Odata ]
I [=sigtres 1
[ |- res 1
[%2]
oS 50 m
Q2 1
> | ]
I -
Ol = ---
L, P T B ' B ' ] rL
0.98 ~ 1.02 1.04
-
M(K",K)

eta_2_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

L Entries 7

o | Mean 0.501

L | Std Dev 0.2905
1400(~ —‘|‘— I
1200 | | -

._‘I‘_ | J
1000f~ | | —|— -
800 | | -
[5{0]0] - Y WY FENTE FEUTE FRRNE FAURY FRATH FRUTY SUTRE SR

0 01 02 03 04 05 06 07 08 09 1



2.00<p <5.00, -0.80<y<-0.60, 0/7<[cos(8)|</7, cent(0-10)

400 -

(Odata
—sig+res
= res

Mean
Std Dev

Entries 260
1.025

0

600 F

400 |-

Odata
=—sig+res
- res

Mean
Std Dev

Entries 230
1.022

0

——T —
600 [~ QP
I |Odata
[ |=sig+res
400f- |='T€S
(2] L
o
2
>_ -
200
O =
0.98 1 1.02

Entries

Std Dev

311
Mean 1.02

0

2.00<p, <5.00, -0.80<y<-0.60, 1/7<|cos(8")|<2/7, cent(0-10)

Yields

(Odata
—sig+res
= res

Mean 1.02
Std Dev

Entries 46

3
3

0

Entries 288

600 -
| Mean 1.022
Std Dev 0
I |Odata
[ [=sig+res
400 —
= res
)
o L
2t
> 200
O = &
0.98
+ -
M(K",K)
2.00<p_<5.00, -0.80<y<-0.60, 0/7<cos(8")|<7/7, Cent(0-10)
| — T _
Entries 2243
[ Mean  1.022
Std Dev 0
r 1
3000 - -
1

Booo

Yiel

1000

2.00<p <5.00, -0.80<y<-0.60, 2/7<|cos(8)|<3/7, cent(0-10)

369
1.025
0

Entries
F Mean
400 O data Std Dev
[ [=sigtres
[ |= res

322
1.02
0.004315

oo T T T T Tenwies
r Mean
Std Dev
[ |Odata
- Sig+
wol [ SiG*TES
- res

Yields

eta_3_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

LLARES LARE) RALL LALAS LAAL) LARRN RALLI L pmwn

7200

Mean

7000

Std Dev 0.2875

7
0.5174

6800
6600
6400
6200
6000

5800
5600
5400
5200

0.1 02 03 04 05 06 07 08 09

o

1



Yields

2.00<p <5.00, -0.60<y<-0.40, 0/7<[coS(8)|</7, cent(0-10)

(Odata
—sig+res

='res

Entries
Mean
Std Dev

325
1.024
0

Odata
=—sig+res
- res

Entries
Mean
Std Dev

354
1.022
0

! ! ! T ! ! ! T Entries 311
B Mean 1.022
Std Dev. 0
I |Odata T
I [=sig+res 1
500f |='T€S
O =
F Y
0.98 1 1.02 104 ~

2.00<p, <5.00, -0.60<y<-0.40, 1/7<|cos(8")|<2/7, cent(0-10)

Yields

(Odata
—sig+res

= res

Odata
=sig+res
- res

Entries 228
Mean 1.023
Std Dev 0
Entries 333
Mean 1.024
Std Dev 0

6000 F

Entries
Mean
Std Dev.

2136
1.023
0

800

600

800

600

10000

9800

9600

9400

9200

9000

8800

8600

8400

o

2.00<p, <5.00, -0.60<y<-0.40, 2/7<|cos(8)|<3/7, cent(0-10)

I i i i T i i i T i i i énlriés 327
— Mean 1.022
: Odata Std Dev , 0
L [=sig+res ]
[ |- res ]

eta_4_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

T ! ! T ! ! ! ! ! ! Entries 258
I~ Mean 1.022
r Std Dev 0
I |Odata 7

I [=sigtres .

[ |= res

b = &

-

Mean

Entries 7

Std Dev 0.2854

0.4988

0.1 02 03 04 05 06 07 08 09

N T



2.00<p <5.00, -0.40<y<-0.20, 0/7<[cos(8)|</7, cent(0-10)

1000

I |Odata
L [=sig+res

='res

Entries
Mean 1
Std Dev

458
023
0

Odata
=—sig+res
- res

Entries

Std Dev

329
Mean 1.021]

0

Entries

308

Mean 1.023

Std Dev

0

—
800 |~
[ |Odata
600 = |==sig+res
b |=res
o b
400~
2 7T
s}
200~
Ofp =

2,00<p, <5.00, -0.40<y<-0.20, 1/7<|cos(8")|<2/7, cent(0-10)

800~

600 -

(Odata
—sig+res

= res

Entries
Mean
Std Dev

468
1.022
0

Odata
=sig+res
- res

6000

4000~

Yields

2000

Entries 390
Mean 1.023
Std Dev 0
Entries 2526
Mean 1.022
Std Dev. 0

2.00<p <5.00, -0.40<y<-0.20, 2/7<]cos(8)|<3/7, cent(0-10)

500~

Yields

(Odata
= Sig+res

= res

Entries 187

Mean 1.025
Std Dev 0

Yields

Odata
= sig+res
- res

Entries 386
Mean 1.02
Std Dev 0

eta_5_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

10800
10600
10400
10200
10000
9800
9600
9400
9200
9000

8800

Entries 7
Mean  0.4949
Std Dev_0.2863

o

0.1 02 03 04 05 06 07 08 09

[N



800

600

Yields

Yields

2.00<p_<5.00, -0.20<y<0.00, 0/7<|cos(8*)|<1/7, cent(0-10;
T

(Odata

- [=sig+res

='res

Entries 232
Mean 1.023
Std Dev 0

Odata
=—sig+res
- res

Entries 356
Mean 1.024

Std Dev 0

(Odata
= sig+res
= res

Entries 410
Mean 1.021]
Std Dev 0

2.00<p <5.00, -0.20<y<0.00, 1/7<[cos(8*)[<2/7, cent(0-10)

800~

600 -

(Odata
—sig+res

= res

Entries
Mean
Std Dev

255
1.023
0

515
1.022
0

1.022
0

2488

—— — T
L ) Mean
Std Dev
| |Odata
| [==sig+res
so0l- |™ ‘res
%]
S |
2
>
Ofe =
0.98
2.00<p_ <5.00, -0.20<y<0.00, 0/7<|c0s(8")|<7/7, Cent(0-10)
! ! ! T ! T ! ! ! Entries
r Mean
L Std Dev
Iy
4000~ Q
1
o [ ] q)
E - 1 1
2 8 ®
B 1
>- L]
2000} & %
L h A
@
» @
oy
¥
1.04~

2.00<p_<5.00, -0.20<y<0.00, 2/7<|cos(6*)|<3/7, cent(0-10]
T

800

600~

(Odata
= Sig+res
- res

200

Entries 257
Mean 1.022
Std Dev 0

Odata
= sig+res
- res

Entries 464
Mean 1.022
Std Dev 0

eta_6_pt_1_Centrality_2_2nd_Dca_0_Sig_0_Phi_Norm_0_Sigma_0_lnte

10000

9500

9000

8500

8000

Entries 7
Mean 0.5117
Std Dev_0.2863

0

0.1 02 03 04 05 06 07 08 09 1
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